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I. 150m 255w
3 15m 4. 14.5m

Ina I00 mrace A beats B by 10 m B beats
C by 5 m By how many meters does A beat
27

1. 13.0m 2. 55m

3. 185m 4, 145 m

A B () ~A*B” & AaWE ¢ BT & War
“A E, (i) A A BT Rde® § BT & 9
“A B () A V RS Aded &R #r uel
AR AUT (iv) A B S AOWE § AT
FEA A Bl @ T O og s oo @
qEA T T O, # wRRer e 82
I. CVE*FLD 2.C*EVFID

i1 CAE*FID 4. C*EARID

Suppose (i) "A*B" means “A is the father of
B, (i)Y “A A B” means *A is the husband of
BY, {iii) "A ¥V B” means “A is the wife of
B and (iv) "A 1 B”, means A is the sister
of B, Which of the following represents
“C is the father-in-faw of the sister of D™7?

I, E8ESERD oo RS D
3. GOETREOD 4 CF¥EAFDD

1 @A & U FAE H S e et @
#E Uh f AR gy Aarar g o Ey
Mﬁfﬁﬁwamﬁ?

1. 118 i
- 55 4. 66

I a group of 11 persons, each shakes hand
with every nther once.and only once. - What
is the total number of such handshakes?
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3o o585 4. 66
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Path of a ray of light between two'mirrors is
shown in the diagram. If the length of each
mirror 15 “£*, what is the total path length of
the ray between the mirrors?
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(1434547 +..0t 4033) + 7983 = 2017 FT JH

F47 g7
1. 20170000 2. 20172017
3. 20171720 4. 20172020

What is the value of (14345474 0.3 4033)
+ 7983 = 20177
1. 20170000
3. 20178720

2, 20072017
4, 20172020

o17™" F= wiEaw siE TR

i 9y
A 49
What is-the kst digit of'{Z’GI‘.!JIun?
L 3. 3
i 4.9
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Pick the correct statement;

1. Thesky is blue because Sir C. V. Raman
gave the correct explandtion,

2. Copernicus believed that the Sun, and

nat the Earth, was at the centre of the

Solar system.

The sky appears blug when seen from

the Maon.

4. No solar eclipse is visible for an
astronaut standing on the Moan,

L

U URIHGARNS  UF  AENd are
fasawy & v 90w 9 e @ = Bw
FH OO TEAT R 8 11,5.4,9,1,7,6,10,3, 12,
2. 89 et A dggar wWwT @Rl 9y @
e

1. adan

2. EEaH

3w s @

4. | dur 9F &

A librarian is arranging a thirteen-volume
encyclopaedia on the shelf from lefi to right
in the following order of volume numbers:
8 11,5491, 7,6, 10, 3, 12, 2. In this
pattern, where should the volume 13 be
placed?

. Leftmost

2. Rightmost

3. Between 10 and 3

4. Between 9and |

el wwdr affx & o/ af s qew )
gest & ar TEw vemww & £ 3uem,
@l & 7 weEd A 7 0T osw
USTEHT § § T wow & slaar s
EEH § Afgarat &= §7

Lo 2.6411
3021 43011

Nine-eleventh: of the members of a
parliamentary committee are men. Of the
men, two-thirds are from the Rajya Sabha,

1.

10

GET IT ON

Google Play

Further, 7/H1 of the 1otal committee
members are froin the Rajya Sabha, What
fraction of the total number are women from
the Lok Sabha?

1L M 2.6/11

3.2 4.3/11

7@ T Rae @ g o B o3 ow
e S A, & 39 saw I oY
% yara Wit A € 2 & wway mwei an
Bl 3WF OTH Far T Swa 8

l: -3 2.6
308 i b

When a farmer was asked as to how many
animals he had, he replied that all but twe
were cows, all but two were horses and all
but two were pigs. How many animals did
he have?

i, =3 2.6

3.8 4,12
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11. The distribution of marks of students in =

12,

12,

3-A-H

class is given by the following chart:
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If 3.30 marks is the passing score in a 10

matk question paper, which of the following

is false?

1. Majority of the students have scored
above the pass mark

2. Mode of the distribution is 3

3. Average marks of passing students is
above 55%

4. Average marks of students who have
failed is below 20%

m:‘rvﬁmnma-mmﬁt
o wger & fiar & i &) @ &
mmﬂhumiﬁmmﬁaﬂrsa#
Mer & o oot v 3w a3, 39 @
mﬁtﬁa{#mﬁtm#ﬂw#
T 10 wd B At Ba mm o e w1 osa
# 9% U RE Bead o e & g ag A
e A BT & 2 10 wd B AR ewd
LA T
YR A M & aw Fewd w9 iy

P4 2.2 10
3 XIS 4. 2875

Maohan lent Geeta as much money as she
already had. She then spent 2 10, Next day,
he again lent as much money-as Geeta now
had, and she spent 210 again. On the third
day, Mohan again lent as much mongy as
Geeta now had. and she again spent 2 10. If
Geeta was left with no money at the end of
the third day, how much mioney did she
have initially?
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24 9 POt & UF A & B o 2

SHTAR YUl & oo 24 &) af
FER F 17 A wEEE 6 B, & wmiEs

Herg
1. 24 2. 4
3. 6 4. 17

In & sequence of 24 positive integers, the
preduct of any two consecutive integers is
24, If the 17% member of the sequence is 6.
the 7" member is

1., 24 2.4
3. 6 4, 17
Mﬁﬁhaﬂrmﬁﬁﬂmqmﬁm
BN F awer BN = gy Ei
(¥ # ) oA e, 'k &
0.25 [
0.5 29@
I 4T e
| — 8 Srw
e B & Apm A A 02s e Y
i o wwa §
. 8 2. 16
3. 32 4. 64

The prices of diamonds having a particular
colour and clarity are tabulated below:

| Weight of diamond [Price of diamond (in
(in carats) rupees/carat)
i e 1 lakh
05 2lakh
1 4 lakh
2 8 lakh

How many 0.25 carat diamonds can be
purchased for the price of a 2 carat diamond?
I. 8§ 2. 16
T 3 4. 64
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15. The university needs to appoint a new Vice 3. B 4.
Changellor which will be based on seniority.
Ms, West is less senicr to Mr, North but
miore senior to Ms, East.  Mr, South is T
senior to Ms., West but junior to Mr. Nogth,
If the senior-most declines the assignment 17. Which should be the correct pattern in the
then who will be the new Vice Chancellor empty square?
of the University? : .
I. Mr. North Q OO
2. Ms. East Q - O
3. Ms West
4, Mr, South

16. UF wuob anae & e Wua e et
& e i # e a

=

8
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12 |4

YOt 3AT H AT AT §7 L / e
I 36 5, 48
3. 7 4, 96 \

16 Arcas of the three rechingles inside the tull

rectangle are given in the diagram. 3. [ 4. /—V
5 ) g

|
5 S— o
Whal is the area of the full rectangle? 18. 120 T 22 &R W @ wAW S
L. 38 2. 48 FTE {IAT ST e 8T i
3R 4 28 LG0T 30 2 00 EE20
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19,

19,
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20.
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How much gold and copper (in g,
respectively, are required to make a 120 g
bar of 22 carat gold?

1 S0and 30 Z.
3. 110and 10 4.

100 and 20
120 and

U e 9 A, S Og 40% @Rl & o3
40% qut gl o Rufd & srdew 40 Rer
oo Wi § &= 9% 6T anar o r sge
e Ty sie ghm

l. 100L 2. T3L
S 4. 200 L

A wiater tank that is 40% empty holds 40T
more waler than when it is 40% full. How
much water does it hold when itis full?

I, 1o0L 2 3L

3. 120L 4. 2001,

o Rl B & @i oo £,
Fea # & #laar s ow S @) gear
g

I. 89° 2. 79%

3. 59 4, 29°

I all the angles of a triangle are prime
nurabers, which of the following could be
one such angle? . .
1. 89%
3, B

-l‘-i‘J

o 35
=
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P & @ @t wr ufert smer e
LR | e
WRERTA N U S W 20
JAda-Ala-CONH;

o Pro=Gly-CONG

e GE=CONHS

Val-Pra-CONH,

Lk P e

Which one of the following peptides can
coexist: i both  cis- and  trapss
copformation?

I Ala-Ale-CONH,

Pro-Glhyv-CONH-

Asn-Gly-COMH;

Val-Pro-CONH;

e Lad

22,

2.

23:

33
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M- dd9 & sl & g
T8 wead & |

2. e guif N uRads waesdar @
qR A I R e & dfee
Ffafiear &) wfo & ane & o

3. ¥t atty avefl weed oy
w0 At 2

4. U QOIS BT ke, /Ky (M sy &1
~2 % 10° s gorfam 2 19 Aw
faaro-Frifye qemd & &
Fda |

Which one of the following statements is

NOT correct?

1. Allosteric enzymes do not obey
Michaclis-Menten kinetics,

2. The frec-cnergy change provides
information about the spontaneity but
not rate of 4 reaction.

3. Competitive and nonscompetitive
inhibitions are kinetically indistingaishable,

4, A ko Ky (M's) of =2 % 10" for an
enzyme indicates that the value is close 1o
diffusion-controlled rate of encounter,

Bt 4 R el R ofelt apaf @

;ﬁ@ lﬁﬁﬁﬁﬁ‘ﬁ 6 e g
7

2 ﬂrﬁﬁm vd ':‘sz- 3 =3

3. amswiegfneT ug ofeedfy

4. TEee o wrgfie

Which one of the following pair of amine
acids are glucogenic and ketogenic in
nature?

Adaniine and Lysine

|:
2. Lysineand Leucine
3.

[selencing and Phenyviatanine
- Aspartate-and Lysing:

_‘__ A

0.1 N HCI 2t %1 [OF ]2

L1 m P V|
3, 1072 4. 'm
The fOH | of 6.1 N HCI solution is
O sl 2. TR
5. O 4. TN


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

GET IT ON

Google Play

A

Addal247

ag fafea 2 M fawry wfem & 9o
wfewar e @ 5t ofiet 8 wea
LY. o fawme soe ghar 21 O

25, fareeh wés a0 o Ruwa & R 28,

1. fd® o wels = @ den ¥ e asaw @ @R
2. o tfadw ghar 2|
3. WHETY [ O 1. aRiavells wed, gewrgEr €L
4. ARrEAFI=R e N TEa aqsn
2, yiavefg g Aty gavmed
25, Ability of a membrane protein to span the ST,

lipid bilayer strictly depends on the presence 3. FE AN HET IgHA

of 4. serady At grRiavely aw
L. Zine finger domain
2. o helices 28, It is known that there is a large difference in

3. parallel i sheet
4. antiparallel B sheet

the DNA content between fwo organisms
with similar developmental complexity. This
i due to large differcnces in the number of
2. 1 4 9 @t W poueR @ e I, transposable clements, repetitive DNA
and coding sequetices

1. Mg afy Fe? 2. transposable clements and repetitive DNA
2. Mo 3R Fe 3. tntrons and coding sequences

3. Mg atwor 4. introns and transposable elements

4. Na'“K'.Ca™ sl i

29 & Mfa yaa wfwre i
T AYT TSI IuAlT uimfae wen

26. Which one of the listed below is a P-type

7.

27;

3-&-H

ion transporier?

(ung') & gRfwE-N-ArgsirEs

1. Mg" and Fe™ safvafia (ung’) E coli wifdream o
2. Mg" and Fe™ WA s @ fae fear wan alv
3. Mg” and CI' wafal @1 ofag wintfis @

4: Na'—K' , Caand H'

HIHT dTHIN B Fay gewl @)
1. ﬁa‘ﬁm fareelt 7 witrmast &1
2. FaaeE el vA g sffa

sulterfa & o fsm wan g P A

=t why W werT uraiire ol @

e ® ufmfva svd) 22

1. ung” BT T 1np SIREET 9
ﬁﬁ wura Rt @ e w9
i

2. ung BB ung’ TIRTHa) a0

WerT 99 H1 B go ¥ #W wuraid Sty
3. w5 e F Mifer B 3. ung wifwal & warover € wm
wle™ wme &1 8l it fre gedes @ avem =6

4. daTara Rrea A PAifdsr R
AT UHddrEs! &1 B

The cell maintains & high concentration of

protons inside the bysosome Decause of.

1. antiporter in the lysosomal membrane

2. ATP-powered proton pump in the
Iysosomal mambiane

3. facilitated diffusion proton channel in
the lysosomal membraniz

4. facilitated diffusion proton uniporter in
the Ivsosomal membrang

B T wnfons w1 wite v
el B

4. LU d ONfrE ) aufefy
Igigfow & Ay Rfva gaa
TATE SLUAE wng’ T wng
st 3 | fah 4 f sufaon
dar wd Hhm)
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29. A uracil containing plasmid was consiructed
and was used in transformation into the wild
type (ung’) and uracil-N-glyeosvlase
mutated (ung) E coli cells and scored for
transformants in the presence of appropriate

antibiotics. Which one of the following 3l

statements  correctly  describes  the

experimental outcome?

I. ung' cells will have fewer transformiants

compared to ung cells.

ung cells will give fewer transformants

compared to wme cells.

3. No transformants will be obtained in
ung cells as uracil excision repair will
not oecur and the plasmid would not
replicate,

4. Presence of uracil in DNA is unnatural
and the plasmid DNA with uracils in it
will not produce transformants in either
ung' ot ung cells,

2

: 32
0. E coli fowefla ufsfiras fafy @

SUAtT SYE 40 MEe A s woi
& fBwa ww af 2 wfe £ ol
sravelia ulasfoas Afy @ guam
91 AN B B Q@ e @l
¥y s A el 2 9 ue wam

ghfY :
1. 40 fisre 2. 80 fime
3. 20 fire 4. 60 firae

30. E. coli takes 40 min. to duplicate its genome
using a bi-directional mode of replication, i
E, coli were to tse uni-directional moc of
replication to svnthesize a full copy of DNA
complententary to just one of the strands of
the genome, it would take
b, 4k min 2. Blmin
3. 28 min 4. Gilmin

3L pp wErAE Biﬂ'éiéi"—l ufpm @
fEetem g P 8wt
feetwr Fer & wisy gy &

1. o wids & wrg ol wares
WY SO @ YSAN] A
widmy ot Rwar :

2. RNA wifamidy @& Wy ve siqaead

VAT &1 Yiear 2

e Wl & iy eee o
i uRads @rm @ ve wifedw g
ST Fraes gt 2 .

B

3-A-H
STRISEN §—3AN—Z8
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4. 59 E WidY @ Wy e
TAERY R augerd § owry
strafar v siqda wfar @
wEA |

Transeriptional regulaticn of 1rp operon by
tryptophan involves binding of tryptophan
to

1. the repressor protein and inhibition of

transcription by its interaction with the
Operator region,

2. RNA polymerase and inhibition of
transcription,

- the repressor protein leading to
structural changes and its degradation
by proteases.

4. the repressor protein leading to its

interaction with the sigma subunit and
inhibition of transeription .

Tad

elf? o SUTHTE b BT (Sers]

w) = ufssan &t smrafRa sy 2

1. elE2B B MetRNA, @ 191 el
g @1 o w1 Aifsea

2. eli2B &1 wewTes 847 aafh ol

T eli2B & f1a gu qvuq war 2

cell2B &1 fages

4. eIt 2B & aifw Rfvm @ srfeamn
@l agrm #

W

Phosphorylatin of 8IF2 & subunits (at

Ser51) leads to .

1. inagtivation of Met-tRNA, binding

activity of elF2B.

2. sequestration of elF2B because of tight
hinding between elb? and elF28.

. degradation of elF2R.

- enbanced guanine exchange activity of
elF2R,

(75 )

£

e vE srmmI R Yy @ awe

A1 foar war W ubfy @ yfrema-

Bl m{gﬁmr @ ey wWafag 2, fins

T W e oW ow ownd svan RR

&l wad 7

1. TGE-f R auan

2 Awtera & ofyn #@) arg s¥e
T SuaEn

3 @A W IFN-y BT HaTw S

4. 1494 11-109 Igan


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

3%

34.

35

35.

3-A-H

If a disease caused by an intracellular

pathogen is associated with hosl anti-

inflammatory response, which one of the

following may lead to an  effective

therapeutic appreach?

I. Treatment with TGE-

2. Treatment with macrophage activating
agent

. Repletion of TFN-y from the system

4. Treatment with [L-4 and 1L-10

walea @ay oR& Tdatar argyy |
s uifes E6 §9 E7 &1 Udaias &l
& uitfs s a9 Fa=o gfe
i P gty s @

1. pRb U& ps3 &1 ffbmayer, s

2. p53 Ud pRb &I wgiftrsor, e

3. arsf¥as DI ¢d CDK4 & Wl dern @

4. p21 # sfrafaa & afvg s @

[+

Cervical cancer-causing papilloma  virus
produces two oncoproteins EG and E7
which are responsible for interfering with

cell c_}rclc regulation by

1. inactivating pRb and p53, respectively
2. modulating p53 and pRb, respectively
3. binding to cyclin D1 and CDK4

4. achivating expression of p21

ft 4 @ #9 W ogg wW@ oA A
avpal & Sifwga @
Hiffrer & 4ra @Ra A

@Y wfFa &1 FgAed dar 27

1. g& wfera

2. Wanft wiferan

3. srEsl wiea

4, afavrd wftrn

Which one of the following permits the
rapid diffusion of small, water-soluble
molécules between the cytoplasm  of
adjacent cefls?

1. Tight junctions

2. Anchaoring junctions

3 Adherens junclions

4. Gap juncrions
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1. dofeawm g ot Rred--anw
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36. Which nne of the following is NOT true for

alternative pathway of complement

activation?

1. Alternative pathway uses the same
meémbrane-attack complex as the
classical pathway

.- Adternative pathway does not reguire
antizen-antibody interactions.

. Alternative pathway produces C3 by the
same route as the classical pathway

4, Certain microbial surfaces have

physico-chemical properties that may
result in activation of alternative
pathway

wpl afds @ siet @ Pebwr @ <ham
amgefl safasr | Ca &r HEA
#ffea dqa & qrafsy s 2
o I Wl % Ca #F s
wor A waw & fow Rewary 2

1. UG afsraeor Tergatutdle

2. weda

3, argficte 1,45 fawese

4. N-yififeargstaifes

Fertilization in sea urchin eggs involves

Ca’' release from the endoplasmic

reticulum for cortical granule reactivation,

The major. molecule responsible  for

refeasing Ca' ' from intraceiluiar stores is

1. voma pellucida giveopriteing
p"ﬂ{d.ThH'th

3. inosital 1.4, S-sphosphate

4, N-acciylghice !b!-“ﬂﬂll.[‘i\(
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What is the observed phenotype when the

wlirabithorax gene is deleted in Drosophila?

I. The third thoracic segment is transformied

into another second thoracic segment
resulting in a fly with four wings.

2. Since it specilies the second thoracie
segment, instead of antenna lez srows
oetol the head socket.

. Since it specifies the third thoracic
segmentya fly with two pairs of halrers
develop,

4. Since this gene fails 1o be expressed in

the second thoracic scgment, the
antennac sprout in the leg position,

Lad

9N b Ram @ weay A P

L e e

LM W umu dm W iR
a9 i @ oMy afvean us
WesERR s 4 Rag &6
2

2. ¥Wae  sifra, @il wifafies
ol ST @ wE e wrar @)
R Al Waa s Fasg
ARG S G 5 T
U= wert &Y S ¢y

3. dLondl, wiszes 8 oyl
AE TG COTEACA ot afEy
FErwT &1 Pmto aah 2
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Which one of the following statements
with respect to amphibian development s
correct?

L. The organizer is itself induced by the

Nicuwkoop Centre located in the dorsal-

most mesodermal cells.

The organizer functions by secreting

proteins like Nopgin, Chordin and

Follistatin that blocks BMP signal that

wiould otherwise dorsalize the mesaderm.

- In the presence of BMP activators the

ectodermal cells form-neural tissue,

4. Wit signalling causes a gradient of fi-
caterin along the anlerior-posterior axis
of the neural whe that appears to specify
the regionalization of the neural ke,

b

e

Fraifsa st w1 wem wal A

ofivian & wes /amo @ waeg d
SR

Laml F wmfg wifer g

Frarena wiftrer ar wae &) gwfy
& uaEdl 2

2. shofar @ yfve @1 wedteRPe @
sEEiT N ARe v fuferagfie
e @ wify afyerfa o fafa
fa o wrwar 2

3.oviforn A fewgan g afl

4. uftert w1 sfivien vl o e,
adad. o oRaRt @& gr
Frafsa gl 2

Which onie of the following statenients
related to companents/ features of
senescence in plands is INCORRECT?

L. Programmed cell death in plants may

generate functional cells er tissues.

2. Senescence can be induced by application
of eytokinins and defayed by BVETEX e,
seton of salicylic acid,

. Plants defective in autophagy demonstrate
aceelerated plant senescence.

4. Leaf senescence is regulated by NAC

and WREY genes Families,

Lid
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&1 AT UF g B A o
6 wewt g1 Ud Tdgdia wE o
ufdfad 8, 1@ s Aggioe Sifs
Heplde afrrm wE @ dRefaa @

¥ gtar 27

1. FeHiATsH 2. XU

3. fsferea 4. Teg@ifEde

Which one of the following secondary
metabolites s characterized by the
presence of a central carbon atom thar is
bound by a sulphur to a glvéone group, and
by a nitrogen 1o a sulfonated oxime group?
I, Alkaloids 2. Terpenes

3. Phenolics 4. Glusosinolales

a= A aftfa Qfasifow aetghr
“faufades aftafta svdt @ o9 a3
I 21 < O SR 7 - A 1 |
frer f & @ta wr "Bk«
aftrafig sl 22

1. aqga wie ddwe, affa aus

2, wie ddw, agma ude
gﬁr&éamﬂwﬁm
3 aftfa uvtg ﬁEhF—I aftfa w3E
e ud ofrd & mﬁrﬁ*ﬁﬁ
ﬁiﬁ:{iﬁﬂ:ﬁﬂ:ﬁgﬂmq&m@r

Dark grown Arabidopsis seedlings show
*En,r_lle response’ when exposed to ethyiene

_hum‘mm! Which one of the following

options 15 characteristic  of ‘triple

response’?

I, Reduced shoot clongation, increased
shoot thickness and tightening of apical
hook. .

2. Reduced shoot elongation; reduced
shoot thickness and leasening of apical
heok.

3. Increased shoot elongation, increased
shoot thickness and loosening of apical
hook.

4. Inecreased shoot elongation, reduced
shoot thickness and tightening of apical
hook. '

RS U waae gl 6l
aqr & ot 5 Rfm gew @
sty vd afasfs 8 wafaa wd
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L. BRI 2. BEII

1. BAK | 1. BSKI

Bragsinosteroids are a: group of sieroid
hormanes that function’ B a warien of
cellular and developmental contexts m
plants, ‘Which ong of the folloving acts as
an inhibiior of the brassinasteroid eeceptor?

| BRI 2. BKII

3. BAK I 1. BSK]

frr 9 st o surEms O,
arairafe

HHTT-ATANT Fd @

Aty g st § s F

Faenfier wlar &2

1. weitfite 2. TagHide
rgHh 4. @A

‘Which ene of the following metabolites
moves from mitochondria to peroxisome

during the operation of the C, oxidative
photesynthetic cycle?

1. ‘Glyeerate 2. Glycolate
3. Glycine 4 Serine

e d gra—ifesr abslfer on

% wteafsls 2, dfa s 2

1. W% P 2 wviqd ufu
3. UW qoh 4 STeETEE
Sympathetic post-ganglionic neurons that
are cholinergic, innervate

L -swoat glands 2. parotid giands
3. hair follicles 4. pancreas

welarwfe e & fow wifdwr A
) )

1. #iw wTST

2. TATHT BIRTHT

3 qhewr sl

4. ey sy

Melanopsin is found inwhich cell of the
retina?

1. Cones 2.
3. Ganglion eetls 4

Rods
Bipolar cells


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal2417

47.

47,

48.

48,

3-AH
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1. saR® 7 HReE

2. afaR® AraRer &ifreg

3. dEn O B

4. qrEa ey sifdreg

Prestin, a membrane protein, is found in
which one of the following cells of the
organ of Corti?

L. Inner hair ¢ells

2. Inner phalangeal ceils

.- Quiter hair eells

. Buter phalangeal cells

gt @afya A vd B, wlw 75 fatum
e @, W WArT SREEE @
wilSs wa &) = % gs @gor
AR @ra wared wiar) uwwer, i

Ll

A % P gestelfas (qeardl)

e G| 0 YA B A e,

e F 9 wba o o Wy 22

LA T B @ gem A aRwan
wdeTgRfes sl (ADH) &)
HIAT B Bl | ==

2 B d A @ gaw § gfRward ADH
B e i A =

3. ADH @ arsr qteT  cafwray

4. 9% H UId B O afaqev A d B
® gan A it gt

T'wo individuals A and B, cach of 75 kg
body weight, have similar volume of body
water. Both of them had high salt snack.
However, individual A also had 2 glass of

‘aleoholic drink. Based on this information,

which one of the following statements is

true?

L5 A will have lower circulating level ot
antidiuretic hormene (ADH) than B

2, B will have tower circulating level of
ADH than A

3. The level of ADH will not change in
these twa individuals

4. The reabsorption of water in kidney will
b more in A than B
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" following Gonclusions is eorrect?

Fdrl fvar war) U gggn &

IR HARdd B dquiterfy, wwe

el 2 v wg

1. %l andaaeer Ay @ ura
B 2

2. gfrmdf grrower fafy @1 g
Sl 31 :

3. 9% % #lowvis @

4, T S Frdee ey 2

An intron was cloned within a transposablz
clement. Absence of the intron following
transposition of the clement, will indicate
that it

1. follows conservative mode of
transposition

follows replicative mode of transposition
is 4 retrotransposon

is an insertion element

=) et

w ofle 4 afal & wa @
FrafRa &3 et g fawelt Wz

4wt Fredfe el 9v Bl
I

werEEy W wart ¥ e st

SO B &) SR T B oneR

R A 4wt ar Fresd w22

1. 7% @ fon M s 2,
T T Rt &

2. 48 Uh & s [F3Ss &
b ™ H""_ml:\il B

3. 4% & far wga Pretss & ary

In an organism, allele for red ey colour is
dominant over the allele for white aye
colour. A cross is made between a white
eyed male and a red eved female. In the
progeny all males are red =yed while the
females are white eyed. The reciprucal
cross leads to all red eved progeny. Based
an the above information which one of the
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1. This isa sex-limited trait, and the male
is the homomorphic sex
2. This isa sex-linked trail, with male
being the homomorphic sex
. This is & sex-linked trait, with female
being the homomorphic sex
4. This is acase of autosomal inheritance,
with incomplete penetrance

Lk

UE ST & e 1 oes =tfaw Be
o7 W&y, 30 =afda Bb ST wew ol
15 @fdm bb P wwy @& &) b
ymfewah @t angfy 2

1. 0.59 2. 027

3. 0.41 4. 073

In a2 sample from a population there were
65 individuoals: with. BB .genofype, 30
individuals with Bb geaoctype and 13
individuals with bl penotype.  The
frequency of the *halleic s

L. 0:39 SIS L

3041 4, D33

vE s utar st fF efdyomef
gafaseft & fay weysh & @
WEHERYT U wrar W [ g
fawel @ fag wegh € @ e
g W f oo F apood
wamyey fosr) @9 F1 Warn a7
wiwss Rem o, o 12 ward A
aftyonat nzi-ﬁaﬂw ey | 72 wain
Toim ®
1. WIT gdaan,  aalie airered
gﬂlﬁﬁﬂ’t angad  gefdsed ye

2. m weam, euifs 2 9
witonad gefewed wvaeh s
W frli gw

3 9 wae emtls P owmal @)
4@ Wil #HY A 2 wWael @
aEY gy &) e S @

4. Wi Gy, i P Arasl @n
Yawitrer i 12 Aar & Sem
waig &) FrfEa e 2

A omake snail homiosvgous Tor dexteal
aficles s crosted with a  lemale
homozygous for sinistral alletes. Al the Tl
individuals: showed sinistral phenotype.
When F1 progeny soails were self fertilived
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all individuals of F2 progeny had dexiral

coiling. This experiment demonstrated

1. dominant epistasis as dextral allele is
dominant over sinistral allele

2. recessive epistasis as in F2 dexual allele

- appeared in homozygous condition

3. maternal effect as the nuclear genotype
of the F1 meother-has poverned the
phenctype of the F2 individuals;

4, maternal inheritance as the
mitechowdrial genes of the F1 mother
has governed the phenotvpe of the 12

individuals,
feftees w@ agmsg e & Ges
sy 2
1. @ e

2 snufyter vd WidEn), Han

3. anfEgRatedt vd erateriantsd

i eind
. ety

F.

Bipinnaria and hrachiolaria-are the ksl

forms of

dErusiaeca

. Arthropoda and Mollusea, respectively

. Ophiurnidea and Holathuwoides
Fespectively

4. Asterardea

FrTEREY E W wwPaa srgat

1. wﬁmm-; afteem &9 2 s
g aiatel @1 v g @ amn
wiren #

2 597 UAfaeT ud anwiaies <iEy
@ affyas 2t ¥

3 T weiareT e WieRdH wiEl
@ sy 18 £

4 UHfae wd wiaws & @ @
Walurs &d) o &1 a8

The animnats bidonging 1o phyium

Unyehophors

1. tgvearthropodan charactesistics and
thiis also constderad as a class of
Arthrapoda

2, have beth annelidan-and arthrepadan
characterislics

3. Have both arthropodan and mollisean
charagcleristics

4+ serve asa connecting link between
Actnelida and Maollusea
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ffrr & & fea woevs &1 9t

sfaroy @& wAfew affever §

e amar 27

1. FdaTTEar

2. sftar &1 e faRy oflanmish @
wlar wagsreflaa

3. U 9y wRweh @ aififisar

4. 168 tRNA ar[En

Which one of the following parameters is

NOT used in phenetic classification of

bagteria?

l. trophism

2. susceptibility of a bacterid to'g
particutar bacteriophage

- reaction to a particular antibody

4. 165 rRMNA sequence

i3

e R @t wE wflat @ SAR

Fs &1 ufafiforee s 27
T, d@ra ghara,
ddfifersw

Which of the following groups repréesents
SAE:&:&aﬂE of protists?

. Englenozoans, Red algae. Parabasilids
2 Brown algae, Forams, Radmlariam.

3. Slime moulds, Entamoebas, Diplomonads-

4, Charophyes, Choa noﬂagcllates
Tubulinids

T wrfa gtel @ wofdel F um

™ ula Rftaar o/ gge vl @)

aed gy agmd A fam a2 wd

HAHN BT GATE Y

1. gf¥aft wre Tq'q" sfrefenr > yrva—anf,

> HATATE -

2. fﬁiﬁ!ﬁm ﬂ{“ﬂiﬁﬂ?&' > -
gyl gre vd fieer

3. graredvs e At - Rpfafrs
gf¥adft mie ud ey

4 af¥adl mre va sider - geadtve
> ffai=a - o —anf
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Given below are biodiversity hatspots in

decreasing order of endemic plant species

recorded in them. Select the correct order.

1. Western Ghats and Sri Lanka > Indo-
Burma = Sundaland = Philippings

2. Philippines > Sundaland > Indo-Burma
> Western Ghats and Sri Lanka

3. Sundaland > Indo-Burma > Philippines
> Western Ghats and Sri Lanka

4. Western Ghats and Sri Lanka >
Sundaland > Philippines = Indo-Butma

it et W fawenr oRfYefs

o9 @t gtal » wlfafes. ot @ ofa

o favd & fewre ¥ a@d gy

sgan 0 wefifa faar war 22

1. swrafeda a1, wf Wrse
wefater a9

2. R, anefater a9,
Suafeddiy g9

3. o e, waefiater g s
e, awafeddy aa

4. Iwrasfedela 9=, wefaer gy
&1 e, wf W

Which of the following options lists
ecosystems in increasing order of plant
productivity per day per unit leafarea?
L. Tropical forests, hot deserts, temperate
forests
2. Hot deserts, temperate forests, tropical
forests
. Hot deserts, ternperate grasstands;
tropical forests
4. TPropical forests, temperate prasslands,
hol deserts

fad

WIENOTaaT Siqarl o amardt 7 Sanw
@ W Fgd gu aited wARE W
P ST Wrar #

welst %1 Frs

FuiarT &1 oy

L I G

effisea w1 Pran

BN

A general increase in the average body mass
of animal population within a specips with
latitude is known as

1. AHen's rule
2. Bergmann’s role
3. Allec effect
4

Hamilten's nile
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werarft wonfiai Frsr amamawey F
rft wreft &

1. @9 9 (Fad), gz wleaf
2. 9= 9 (Weld), &9 iyl

3. &9 q=] (@ad), &9 wfeggf

4, Fed qe (Eerdr), ey uferegef

Ruderal species are those which are found
in the environments with

low disturbance, high competition

high disturbance, low competition

law disturbance, low competition

. high disturbance, high competition

danfast 1 ot @ ¢ 93 wenfou)
“ATud R @l gifesea fear W fe
amE fead @, i 5 genfy <an
¥ qe vd o ganfd B &l g
T ow e oarae @ ¥ doPel @t
w9 W e @ gugar ade W
e gar & @ fav far s wifze
f& wonfa A" wonfy “B* F gy ofia
f“ﬂpﬂ @1 trﬁ*vrrrr £?
1. @n § waEn, o9 weEsr vl
ot & WmIv
2. gte &1 anawr, ofi @1 wen
Havar vd Ui w1 are
3. Fg@T W Yena, ot @ dren
A=Al Ud ol &1 ame
4, F@Y @1 ward, 5 ey ve
Ui E B ww

Scientists discovered two. new plant

speeies, “A” and H thal Tosk: similar

except that, spegies "A™ bears flowers-and

leaves that are twice the size of those in

species BT Which method sshould the

seientists use 1o appropriately investigate if

species "A” is.a result of pene duplication

in species *B77

I Sequence simslarity, gene steucture and
géne size.

2. Plant size, physical proximity of gene
and genome size.

3. Seguence simnilavity, physical proyimity
of gene, pename sivc,

4. Sequence fength, pene sleucture and
¢chremosome count,

uffgren dgfrst @1 e oq e o
H Garg 4 us mitfafe e

-bl-'-flt-.'l_—-
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1. WG IqESt &1 C dre fafeur @
@ eiged @ adst @ Py
wTa Fafeon vafy @

CMRb wre v ggfa @ qiar
g U4 SrgArinl & Ayl o

L C wra Pabon ogfa @ o
WAg vd Srge @ aravist

P wra Frafy yafy mag aavsy
@ foe va "Xe e Prafvr gl
eTena @ yaviet & fo

L

Y

A group of palacontologists digeing in an

drea discovers:a pre=historic homan burial

site.  The same group, while exploring a

neatrby. arca, discovered fossil remains of

what appeared 1o be more than 100 million

year old dinosaur bones. Which of the

following combinations of medemn radio-

ntetric dating technigues should they use 1o

caleulate the age of these fossils most

accurately? '

L, "% dating for human remains and U
dating for dinpsaur renaing

2. “'Rb dating for both human and
diﬂmaur rEmaing

1'% C dating for both human and dinosaur
FCREINS

4. "**1 dating for human remains and “"Xe
fur dinosaur remains

W ey wv wwa € wfrenft
FaaRy Afie W @ wofa @
wrafem & snpler- ey s
Uq ag- st wamen) fes 4 o9
Wi WD BET AT B?
1. B9 seRer 8 weele e
o g1 Rrema ) gafy sder
W gan v e i ywfa gan
{Lﬁ*ﬂﬁm BT (miDNA) T Y
AT DNA HAVT "SWidT-—¥ - diex”
FGN &1 wel T dvar
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Given below are statements related to the
two competing hypotheses on the origin of

modern  humans: the Out-of-Africa
hypothesis and the  maulti-regional
hypothesis. Which of the following

statements is INCORRECT?

1. Both the hypotheses support that Homo
‘erectus originated in Africa and
expanded to Eurasia.

2. Mitochondrial DNA (mtDNA) and Y
chromosome DNA evidence support the
‘Out-of-Africa’ hypothesis.

3. The principal conflict between the two
hypotheses is that multi-regional
hypothesis does not support African
origin of Homo erectus.

4. The multi-regional hypothesis states that
independent multiple origins occurred in
the million years since Home erectus
came out of Africa.

frsr & @ st w1 suw wERe
FaT fPefv gua @ oftde & Wi

27 :

1. U% i1 g6y @ ar Tot #
GH §®! WY @9 gl &)

2. UF offi wwT @ an ot &

4 g AT 95t 2
3. v& oftr wwy ot s@eer ued @
¥ gD ygvar ged @
4. & S w69 A aqmer ged @
wH §I8) v wgdt v Rex
8w 2

Which one of the following statements is

TRUE for positive-frequency dependent

selection?

1. Fitness of a genotype increases as it
becomes less commeon,

2, Fitness of a genotype increases as it
becomes more common.

SIMIRISEMN8—3AH—3A
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3, Fitness of a genotype decreases as it
becomes less common. i

4. Fitness of a genotype decreases as it
becomes common and gets fixed.

U% 9IS ®1 MALDI weaarT auizy

M/z 2000 WX UsTa! fray 26 2 oof

YRgE & ES| wome avimm agd

fray it 2 72 wfdenr ¥ wme

T & %

1. ESI zeawH avies wrer oed #
BRI AT B 2

2. W& & 0frs @ aga sl yer
Esxwﬁqﬁgmﬂmal

=

4?&?@ ® agwed @ WRa
AT 2

The MALDI mass spectrum of a peptide

gave a single peak with M/z of 2000, The

ESI mass spectrum of the same peptide

gave multiple peaks. These observations

indicate that

1. degradation has occurred while
acquiring ESI mass spectrum

2, multiple charged species of the same
compound are observed in the ESI
spectrum

3. the sample is impure

4. ESl induces polymerization of the peptide

WE & T TRt wm Pk
e F & fvw awhe g 98 faar
W wEar?

1. NMR wagiephdt

2. IgFHA HmANEOT geiardry Ty

3. oA Waeted
4. wfrdrah werafifa

Protein conformational dynamics
CANNOT be determined by which one of
the following techniques

1. NMR spectroscopy

2. Differential scanning calorimetry

‘3. Mass spectroscopy

4. Fluorescence microscopy
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1. T8I0 &1 Yer=iayer a1 e
| qrd fean F ghar 2

2. eiL.ys. M, Hae ofid &1 9ugly
qrteh ote @ @ o el ) a8
forar sm wwarn |

3. waToeor ArgRY w9 8 S o
g g & sfvafrafoa g

4. ufans ot & s s amgfy
P ART B4 A wgw P s
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Given below are a few staiements on

Agrobgcreriam mediated transformation of

plants, Whick one of the following

statements is CORRECT?

1. T-DNA transfer occurs from left border
to-right border.

2. The gfp reporter gene can never he used
for selection of transgenic plants:

3. Transformation frequencies will decrease
on averexpression of virulesce peres,

4. Host plant genes play an important role
ifi influencing transformation
frequencies,

forer 4 @ wtw a9r ofepr dew Avy

Wy W erds qa wiier s @

¥ fmy e &7

1e§mﬁmm(wnmﬂa
auiardfia odegr

2/ BITC SR Frt v srETfa FACS
ety
STu+ o, Frame wle

i

Which oneof the following assay systenis

ean specitieally detéct apoptotic cells?

I Tetrazotiom dye (MTT) based
colorimetric assay

. FITC — annexin V based FACS analysis

*1Cr reloase assay

. Trypan blue exclision assay

P e P ol 7 @ @t
T SEAET W T B uelE
by F Y o o wem?

E S RS

13

69

70,

T

GET IT ON

Google Play

1. 81 wfafaao

2. UHIE B UTF 8T B ATHA
3. 5 RACE (¥¥1)

4. gRe fawemor fafer

From: the various technigues listed below,
which bne CANNOT be used to precisely
map the transcription stari-site of & gene?
I, 81 Mapping

2. Bequencing the région downstream of
promaoter

SLRACE

Primer Extension Method

Pl

Frer s we e aneer wes °

el & sy gy & &= awal

W gEiiar £

AU warere e amwst, stwa
I[f%ﬂﬁi[bﬂ’"ﬁgq"

B. b GHRITIS ATHST, dEdS
=nfeasr =t

Cwﬁﬁmﬁ‘mw it

g

B.T\]‘E mﬁﬁﬁwmﬁmﬂw

> nifeaest > atva

SuaT 1T @ B Ol 27

1. A%T B
3 BYE D

2. ATC
4. ATD

‘Eollowing are statements to depict

relatlanshlp among measures of eentral
tendency in askewed dataset:
AdInpositively skewed datasets, mean =
median= mode
B. In positively skewed datasets. mode =
edian s mean :
C. In negatively skewed d&lascn mean >
median > mode
D, In negatively skewed datasets, mode =
median = mean
Which of the above statemenits-are TRUE?
l. Aand B 2. AandC
3. BandD - 4, AandD

SMIRISEME8—3AH—38
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q:ITII- Pl Based on above structures, following
; \PART C information was given below:
A. D-glucose and D-mannose are epimers
because they differ in the sterecchemistry
. P me esigwm @ fafaw at €2 position.
quﬂ-q-;h g, vd £ fors R B, D-glucose and D-galactose are epimers
T o far & because they differ in the stereochemistry
at C=4 position.
CHO HO : CHO €. D-mannose and D-glucose are epimers
because they differ in the sterenchemistry
e Rt = H=te=o) at C-3 position,
HO—C—H HO—C—H HO—C—H B, D*E,EI.JBC[O’SE_AHE! B-glucose are epimers
H—C—0H H_é_,DH HO—t— hecause they differ in the
stereachemisttyat ©-5 position,
Be=p==Chl H=s=i =l =0H Choose one of the correct combinations of
H2CH HyOH H:OH aboye statements:
0 : = b Aand B 2. CandD
B-Mannogse = CHueass D-Cralactose 3. B,Cand D 4 D
HOY g9l 9% wvmw 6 amEw W@ . . :
; 72. WA @) wvwen @ W Prer sost
f‘HT"nﬁﬁr e Ry o # o= 31'&
A, D—Te@ta vE D-Aslor vdmwe @ ; ik iy vt
wifE wid Pl v @ 02 19 e X e
o 9y P @ 'NH“EE’W ¥
+3, cx»ﬂi"ﬁﬁﬁk n—=n+4,
B. D@ty w4 Dtdectar yitagm . A
e e gve B v @ o 3 5 T nonss,
4 ¥ Ut e 2 : B
C. DAY v DrE@a vl = g?ﬁ uﬁis;;a RIS _ﬁﬁ;ﬂ A
wif% 9 ﬁﬁﬁ W ® (3 el 4 10 A
- s C. .y Aids A, gigglas A
D. D-ideetw q-q' D—e@l¥ e . Sl o g g
& wife o Bifi e @ c D. WMIRAY avl & W Sawe §
5 eir R sl 21 EIRRIoE 45 8, wifs oagat @
B BT UT wited
f‘ﬁfﬁwwxﬁfﬁ‘ﬁﬁﬂﬁimm Wﬁﬂwwwﬂriﬁ@
E awrﬁ’ G WHEE ¥ gal @7
.ﬁ,_q‘irg 2, €UgD J'!'l"\"‘-TIC 2 ﬂq&fﬂ
M. Eolloniog are Umciures ot deesos somers 72, Following statements are made related to
of aldohexoses which differ in the PRIt Sicturs :
stereochemistry A. The hydrogen bonding patterns between
the CO and NH groups are:
CHO GHO HO n=n+3 in o -helix; n—+n+4 in
| ) 3o helix and n — n + 5 inw helix.
i H_éHDH L e B. In a ff turn, there are 10 atoms between
H-—t—H HO—3—H HO—L—H _ the hydrogen bond doner and acceptor.
H—C—0OH ST HO—C—H C. In a y turn, there are 6 atoms between
. ' _ the hydrogen bond donor and acceptor.
e o e D Parallel  sheets have evenly spaced
CHy0H HaOH CHsOH hydrogen bonds, which bridge the
fi-Mannose B Gilucose DiGalatges strands at an angle.

3-A-H
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Which one of the following combinations
of above statements is correct?

I,Aand C 2, Aand B
3.Cand D 4, BandD

qfyas = # oweE B IR A

e wast T rd T

A B9Eh = #rqwém#gm%‘waﬂ
frmes c2' s I

B. an.yay # wew &1 fmgd 3
qreg 21

C. WL ¥ Gud A & &g glad
mm{r,mwmﬁl

D. YT & @ B-dteft & 41
Ty ¥ 2 o 9 oy ¥ uReds

e arar ® wuterg Td
weerg @1 uftaffa wvar &)
Prvifen st W wE e Ry

HYAl § G H WET B
. ATE C 2. BwEaD
3.ATED 4. BUdC

The following statements are made on
nucleic acid structure;
A, In the B-form of DNA, the sugar pucker
is C2' endo.
B. In RNA, the sugar pucker is C3' exo.
C. The wobble base pair is formed between
Gand A in RNA,
D. A change in the sugar pucker from C2'
endo in the B form of DNA to C3’ endo
alters the width and depth of the major

groove,
Which one of the following combinations

of above statements 18 correct?
1. Aand C 2. Band D
3 Aand D 4, BandC

s veaew afufEar &1 agadue—aw
w@rwa o W, 1=4upM"’ firre,

— | — r i
[s] =0 U, 'q [5] 1.5 % 102 mM™*
== Vo 08 Ky T
1. 0.025 uM e ' Td 0.67 x 107 mM
2. 0,025 pM ' e ©F 0.67 x 107 mM™
3. 0025 M PmE v T 1.5 x 10° mM™!
4, 0038 uMPrAe ' g 067 x 10° mM
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The V... and K., from a Lineweaver-Burk

plot of an enzyme reaction where E =40
ity 1 s 2
! = —==15%1
HM™ minat 5 0 and q 5% 10
mM™! ati- = 1) are:
1. 0.025 uM min™ and 0.67 X 107 mM
2. 0.025 uM ™" min and 0.67 % 107* mM™
3. 0.025 pM min " and 1.5 % 10°mM™"
4, 0.038 uM min" and 0.67 % 107" mM

78, = weraf W

75

3. A,B,D

A WER vE fead aval @1 9T
ydadf @ Savesen wmafe gl
&1 TETE- ATP, NADH, NADPH 4
FhDH;EﬁFﬂiﬁ? § aedt

B, folt affpan & wwmfasn vs

#tfirer # g@ g ox Pl 9d
oyt T afafear &1 AG® GRS
2 41 FETITTS
C. gr4f, amafiewfl wrosifteas vd

From the following statements:

A. Biosynthesis of proteins and nucleic
acids from precursors results in produc-
tion of - chemical energy in the form of
ATP, NADH, NADPH and FADH:,

B. The spontaneity of a reaction in cells does
not depend whether AG” for the reaction is
positive or negative,

C. Both oxidative phosphorylation and photo-
phosphorylation involve oxidation of H,O
o Gg.-

D. Only chemical potential energy contributes
to proton motive force in mitochondria.

Which one of the following combinations

represents all INCORRECT statements?

1. A, B, C 2: BC.D

4 ACD
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Ty fawedl § @ wdt wye
qara &

~iii, B—i, C~ii, D=iv
-1, B=ii; C-1v, D-1
v, B—i, =i, D-iii
B=iv. C=mi, D-i

Match the enzymes in Column A with their
respective biological function in Column B;

21

Column A Column B

i. Catalysis.of ATP-
dependent translocation of
the aminophospholipids,
phosphatidylethanclamine
and phosphatidylserine from
the extracellutar to the
cytosolic leaflet of the
plasma membrane

Lipases

-| Flippases

il. Catalysis of ATP-depen-
dent translocation of plasma
membrane phospholipids
from the cytosolic to the
extracellular leaflet.

Floppases | iii.
triacylglycerols.

Catalyze hydrolysis of

3-A-H
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Scrambla-
5E3

iv. Catalvze the movement
of any membrane phospho-
lipid across the bilayer down
its concentration gradient.

T

Choose the carrect combinations of answers
from the options given below:

l. A—iii, B~i, €-i, D-iv

2. A-i, B-iii, C-iv, D-ii

3. A—iv, B-ii, C-i, D-iii

4. A-ii, B-iv, C-iii, D-i

(& armnq;r et wié@w (p) #

ygard U fedehase @ Eﬁ?ﬁﬁﬁ
Wag wieH & w9 4 &) ol sy

ﬁ_ﬂfﬁﬁ“ﬁ B Argvd (HBV) § w44

LCE O i

wiearfea won fBifde feor T
HBY =forsr @ a4 & 9Iuia, P &
' Fiftafada 4 Fufees @

#Rdl & U9 Hewawy,
HBV-@ftres & wdwr o wWsraar v

21 P # weEaqd® @@l wd g

Hiftrer waefq # afee e o
wiel gu@l N-Gftesr uas W SWrR

wiafs Cqfrest siftrefady § war
£ 1 afverfans ™ WdE P
g HYa ud P HIUY =T

#) 2 geld T vt § 9@ wts

W % oy sy gy gwid @ fag

1 5 Wi P &1 Cyfmsr F-

uffes & a=ui=afear &v® HBV waw

W weram S 287?

1. Wensifea HBY &t dfdchnge &
Wy Waes W gE wWe vEer
(Gga ®vW) Ud gWe W F-
ufdes @& wnfa &t Foufees
il @ gy wia
BIET TEHAT |

2. Meataifrg HBY w1 Tletwze
wiife swRaffo cuftesr s p
& sfu—afireer s £ @ Wy
ginf &t 1 o wwig T ot
ST |



https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Adda247]

i

3-A-H

3. Weateifear HBY @t Adetme
sifs wwRafifa N-gRes alt p
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An integral membrane protein (P) has been
identified as a cell surface protein of
hepatocytes and assigned to bind o
hepatitis B virus (HBV) and promote its
entry into cytosol. Upon binding to HBV
particles, the C-terminal of P interacts with
F-actin in the cytosol and in turn, helps in
the entry of the HBV particles. P was
successfully cloned and expressed in
animal cells in culture wherein jfs N-
terminal is exposed on the surface while
the C-terminal resides in the cytosel. The
recombinant protein P so expressed retains
its complete structure and function, From
the list of experiments given below, which
one of the experiments will you perform to
show that C- terminal of the protein P via
interacting with F-actin helps in HBV
entry?

1. Incubating radiolabelled HRV with
hepatocytes in culture-and follow up its
association with F-actin by immuno-
precipitation analysis using anti-F-actin
antibody. '

2. Incubating radiolabelled HBV with
hepatocyles over-expressing the C-
terminal mutant of P and repeat the rest
of the experiment as in “1" '

3. Incubating radiolabelled HBY with
hepatocytes over-expressing the N-
terminal mutant of P and repeat the rest
of the experiment as in “1~,

4. Using wild type P as well as C-terminal
mutant of P and their individual over-
expression in a heterologous cell line
(completely devoid of endogenous P
protein) and then repeat experiment as
i =12
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aregHIRifea araraver § e gl
B 9Ed U4 o aiffEn ararae
4 uw o afser st 3 @
% fou smwme @ @iy afses
S Rreeht &) e e avdoh
ggifm @ 2 wraaw B sder
#AA () U6 gm0 aaiRE &
IARUR wAE B, v gl B @
MerE 7 om & ud Rreh # amur
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T BIfoIe

I 6x10°V m' 2. Tx10°vm?
L.B86x10°m!" 4 e6x10°Vm!

The cell membrane of neuron maintains
intracellular conditions that differ from
those of the extracellular environment,
Such difference in intra- and exteacellular
conditions are critical to the function of the
nerve cell as the nerve cell membrane
resembles a charged capacitor. Assuming
the electric ficld (E) across a parallel-plate
capacitor is uniform and if membrane
thickness is 7 nm and potential difference
across the membrane is ~60 mV, calculate
E of the membrane.

B 10 Vm 2 710tV
3. 86=10°Vm' 4 GaxI0Vm

BRERSEsfE (P0) v #lave
(Chol) ® wwaly & &t wgyey (0
L S I 1 I e T
SR “Y" ¥ PC wd Chol & afiRaa
w AfRaaugs  (Cfva-oMm) @
Wy fFa war) v iy Rieh o
(X* ® “Rew Pasn o
d®y) hrd— GM,, & Rufy @ @te
% alv, AR wedty @) fafie
vl waw w wde ww @
uReftra se by wreme, Prenfeg
FheEwst & gaim asadr @ o
far wrar

A, BTEEIETS A

B. tdaeta a=h afres

C. valTagsiRray

D, MgadtawafeT
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3. w9t Bud 4 B ANE D

Two liposome preparations (*X* and ey
are made using basic lipid composition as
phasphatidylcholine (PC) and cholesterol
(Chol). In “Y™ q panglicside (asialo-GM,)
is incorporated during the preparation
besides PC and Chol, In an attempt to find
out the localization of asialo-GM, in the
membrane bilayer of “Y™ (taking “X” as a
negative control) and considering liposome
as & true depiction of lipid bilaver structure
of cellular membrane, following reagents
are provided as probes:

A. Phospholipase A

B. Galactose binding lectin

C. Exoglyeosidase

B Cyelodextrin

Choose the most appropriate reagent(s)

from the above list to ascertain the

loealization of asialo-GM,,.
. Only A 2, BothCand D
3. BothBand € 4. Both A and D

S @ Ry @ fedwhife e
T XA gl Feifera s da
21 vl f, ue e wemr
w1 @te e T Renl os e
O @1 e qd e a9 o
EW wH gual  seifremen fewr

din st ffa e war by
e ot @ afrafda sww @
I U 819 27

A fewm Svfresas
weafrad= :

B. fo¥cta Siofhergagiestsr (HAT-8)
% geafada

C. fevet H3 areRem o Aegw
TSl (Clrd) % Segfads

D, BTgWY &1 &1, Wit & RNA
yaef® vugy #

IHlE Bl W gen gEew dw @
| &t sffraa swoa?

{Cie3) o
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3. BAAB U C

Z. A CHD
4, BEAATEC

Genes translocated to the heterochromatic
regions of chromosomes are silenced. In §
pombe, & translocation event was detected
wherein a gene of interest was translocated
to the cemtromere region and is silenced.
Mutagenesis leading to loss of function of
the following target penes was done fo
allow expression of the gene of interest
from its new locus,
A. Mutation in histone deacetylase (Cir3).
B. Mutation in histone acetyltransferase
(HAT-8).
C. Mutation in histone H3 lysine 9 methyl
transferase (Clrd).
D. Loss of Dicer, an RNA processing
enzyme,

Which of the above events could allow the

expression of this gene from the
centromeric region?
1. A, Band C 2. A, CandD

3. Beand C only 4. Aand C only
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A proup of scientists performed an
experiment where they artificially fused
mouse cells: with monkey cells. The
resulting fused cells were labelled with
fluorescently tagged antibodies against
mouse and monkey surface receptor
proteins, X and Y respectively. At the time
0 minite jost after: fusion events, two
receptors were confined to their own half
in the heterokaryon. However, such surface
receptors (X and Y) intermixed on the cell
surface aftér 60 minutes. Which one of the
given statements correctly reflects the
outcome of the experiment?
I. The proteins in cytoplasm are in a
dynamic state.
2. The proteins on the membrane surface
dre in a dynamic state,
3. Surface membrane proteins exchange
with the cytosolic proteins,
4. Membrane surface proteins are in a
static phase.

Egs fatgw & weimwifay & aegwq
frgr gam W& | Egs @ @Al wt
it ifrer & wisE @ fag
vt @ tw w3 e
HiftreT &t faftas 62 aazen &
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Control Eg 5 inhibitor
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1. Eg5 wfgen wfdfeaar &1 wafiw
wear &

2. Egs Waaw ® afvy &var 2

3. Eg5 ¥ v afsaar 2

4. Egs ¥aarer & wfrat & wafaa
T B

4
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B2. Eg5 is a well-studied protein in Xenopus.

To understand the function of Eg5 in
mammalian cells, a team of researchers
treated mammalian cells during late G2
phase with EgS-inhibitor. The following
diagrams represent images of mitotic cells.

Control

Eg 5 inhibitar

Based on the above information, what
function might be attributed to Eg5 during
mitosis?

1. Eg5 inhibits actin dynamics.

2. Eg5 can activate GPCR signalling.

3. Eg3 has motor activity,

4, Eg5 can impact mitochondrial dynamics.
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1. @A A
3.ABTED

"2 ABUEC
4. BAAATE D

Actinomycin D inhibits the process of

transcription in  both prokaryotic and

eukaryotic organisms, The following
statements are made about actinomyein -
mediated inhibition of transeription:

A. Actinomycin D inhibits. transeriptioh
from a double stranded DNA lemplate
by ecither £ eoli or yeast RNA
polymerases.

- B. Actinomycin D inhibits transcription

from a single sirunded RNA template by

eukaryotic viral RNA polymeruses.
CoActinomycin D inhibits Lranscription

from single stranded $x174 DNA

25

template by £ coli RNA polymerase

immiediately after viral DNA enury. |
D. Actinomyein D inhibits transcripton

from double stranded RNA template by,

eukaryotic RNA polymerase |1, :
Which of the cambinations of the ubove
statements is a true representation of the
mechanism of actinomyein D mediated

inhibition, s
A BandC

b A only 2. :
3. ABand D 4. Apgnd Donly .

il ﬂg—@-m el @  aRva
atys @ WA, 2o BTG ST
A fo wud wng o

W ghar 2
C.MeE @WReLy. & yfadfa @
sFmEsl & P 4 . o
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ey ae) frews 27
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Buring. maturation process of some RNA

molecules, formation of a 2'- §* phospho-

diester bond takes place. Following state-
ments are made sbout this phenomenon.

A. Spliceosomie mediated removal of intronic
sequences oocurs through the formation of
a2 5 phosphodiester bond.

B. Removal of group 11 introns oecurs
through the formation of 2%~ 5 phasphio-
diester bond, :

C. Enzymatic removal of introns from the
yeast IRNA- precursors invalves 2- %
phosphodiester bond formation.

D. RNaseP mediated 5-end maturation of
tRNA precursors involves formation of
a 2'- 5 phosphodiester bond.

Which one of the following combinations
of'the siatements j5.4 true representation?
L. A anly 2. Nand D
3. Aand B 4. Cand B

Y wiftrs fawet gasdieer ey

(LK) 200, wifeifam dwa (Tw) 200

g T e (W) 08, @

T

7 & nfers 1 e

Bs.

ECil
"E'.“E.‘!,’laﬂﬂlﬂ
T wE
D. q1fafra wnfme ®1 Tw 195
el

P & R @t wn e ppea
afeafag st @ art ¥ wdy 27

1. WaE A 2- AT C

I AT D 4, BEAD

A plasmid with a linking number (LK) of
200, topologicst winding (Tw) number of
200 and & writhing number (Wr) of 0 was
transformed into £ coli. The plasmid was
re-isolated  from the culture of the
transformant. The re-isolated plasmid was
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found to possess the samc molecular

weight as the original plasmid, but it

possessed a  writhing number of -5,

Following stalcments are made about this

observation,

A. Lk of the re-isolated plasmid would be
195,

B. Lk ofthe re-isolated plasmid would
remain 200,

C. Tw of the re-isolated plasmid would
remain 200.

D. Tw of the re-isolated plasmid would be
195:

Which one of the following combinations of

the above statements is the correct represent-

tation of the facts,

1. Aonly 2. AandC

3 AandD 4. Donly

e dloae. gy § aRe W uea
& dm N-azsifafes = @

afifa=ma @ ar § 9 wed

o}

AT B IER @ QAL g S

forg

B.;%Tr'smﬂﬂ. 2. G B
C."“g=1" A WOR & LULL G8g &
farg

D. A" A 'R & L 90 &
forg

Fr § W @l @ e ageEy
Sfeafga su @ av 4 69 87

1. ATE C 2 BUE C
3AWE D 4 B D

Following statements are being made sbout
the orientation of the N-glycosidic bond
between the base and the sugar in the
following DNA duplexes.

A. ‘anti’ for B form DNA duplexes

B. *syn’ for B form DNA duplexes

C. *ati” for A form DNA duplexes

E. *syn’ for A form DNA duplexes

Which one of the following combinations _

of the above statements is correct?
1. AandC 2. BandC
3. AandD 4. BandD

87.

&7,
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During (ranslation in prokaryetes, when
ribosomes reach the termination codon, the
termination codon. is recognized by the
class | release factors (RF1 or RF2) leading
to the release of the polypeptide. A second
class Il release factor (RF3) facilitates the
termination process. Which of the
following statements regarding  the
mechanism of action of the release factors
is INCORRECT?

1. Class | release factors decode the stop
codons while the RF3 is a GTPase that
stimulates recycling of the class |
release factors.

2. Free RF3 has 2 higher affinity for GTP
than GDP

3. RF1 and RF2 share a conserved segment
of *GGQ” sequence which is essential for
the polypeptide release.

4. RF1and RF2, individually possess another
streteh of tripeptide sequences which are
involved in the recognition of the
iermination codons.

SMTIRISEME—3AH—48
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88, dwtad Awr wEta e L. (D)) 2. (i)
w39 ¥ frecadl v wegifrea w & 3. (iD-()-(iii) 4. (D))
HIEB R @ 4" BRETSIE Ty _
g @ ﬁ # walfta wwar &) 88. Ef?fffﬂ*iﬁfmwsfmhofﬂ
za afsfrw & fav aews saf & phosphodiester een the adjoining
argfif r FTHER + 3" hydroxyl, and the 5’ phosphory! ends in
v mﬁnwmﬁgm s rgir fi*; e i ;hﬂﬁmm e
afufsm Exarhrfay q on 5 met ydrolysis of NA
A * ® mNWMAMPmaHu-Mq}mmn
wed o frer 9 gl wf
B Ak e 'a? = Follawing statements are being made about
B the mechanism of this reaction.
PIRGIRG vl @ W v et (i) AMP is linked to the 5’ phosphoryl end
: 21 + of the nicked DNA.
i) NAD' & Emiﬁlﬂ ilf-T (i) Adcnylylgrmpof HMF) is transferred
TR argiy tb the g-amino group of Lys in DNA
@ e—afl wE A ‘Fﬁ'ﬁﬁﬁm ligase to form a phosphoamide adduct,
ghhrm L ﬁafur & fag e (m}mummﬁb;mmwmoh
I phosphodiester mucleophilic
(i) gy wrgly wEBEETEY attack of the 3’ hydroxy! group onto the
sl ool b o et e
an the statements m aAbove,
TrEE mﬂﬂ " AMP g identify the correct sequence of the
Praror &/ swr & ' : reation steps. S
saiE suAl @ amw R, sl = B G (D) 2. (Hi)
$ Shor ol o ot FE { 4. (HiRi))

89. ﬂ%ﬁq@mwﬂmma}mﬂm e s freg 3 s
tnﬁmmw«ﬁm%{ﬁwmmﬁﬂaﬂmmaﬁmhﬁsﬁm

@ yd agfaar (saw C) |
A B , € i E

a) | whida difa M) | wetow | ) mwﬁmraﬁm; v & e A e e wh |
ufEn

b) | Fisa =1 g (i) |=wn | (y) | Rew ufnm sl Mo gaa # aeed G0

c) | Fifesu afe snfem | (jii) | feleiea] (z) mﬂmnﬁhﬁmmmmr
el a1 uleen @ 9fta aed d en e £
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Fr1 Ry ge &t9 w1 agera wast ougea da @ ?

1. a—r-z, b-ii-y, c-iii-x 2. a-ii=x, b-i-y, e-lii-z

3, a-tiiey, beii-x, oz 4. a-ii-z, b-fii-x, c-i-y

89. Given below are the types of vaccination (column A), the rﬁm or conditions against which these
vaccination types are used (column B) and the advamag#s or disadvantages for using these

vaceination types (column C).
A B : c
a) | Live attenuated (i) Rabies {x) Smmg immune response; often life-long
mmumty with a few doses
b) | Inactivaied or killed (i) | Measles ) Slgbh immune response; cold chain is not
. required
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¢) | Inactivated exotoxin (ifi) | Diptheria (z) | Chance of untoward immunological reactions _l

are very low; less successful in inducing long-
term immunity; need to be administered ‘

= [ | repeatedly

Which one of the following combinations is the most appr.::pnah mrateh?
I, aviez, beiiey, geiii-x 2 A-ii-%, b-i-y, coiii-7
3. a-iii=y, beii-x, c-i-z 4. a-1i-2, b-iii-x, c-i-y

il —
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9. W Gurdm gfma ardl (GPCRs) #
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WEDIVA UG auw @ awgwy ¥
wifler & oty wsi @w % e @

WHEEl @1 W @Y W e 2
¥ v wmar 2
fFrifda &9 @1 a9 GPoR & ant
L

1. GPCRs w& firma we 2 fa
wa Bfeaat & w9 o
gradl Ao el &1

2. GPCRs Proft coifem wifes di=
IrErsl o pvd oy § A B @
W gftne gl & _

3. Cp 9YTEYE TS TPase =E7
WA= ¢ i vafa sfe gid @
U G abua fracs (arg)
yaed 9& Re @ GOP D W
w?mm'rzimrt:,_

4. 'ﬂﬁmﬂﬁﬂ'fm#
qEar
sqEtEsl Jdd B gfsarsfaa
g, BRSO AT s
worre &t afiy wvar #)

90. G protein-coupled receptors (GPCRs) are
used to detect and respond to many
different  types of signals, including
neurotransmitters, hormones invelved in
glycogen and fat metabolism and even
photens of light.

Which one of the following statements

regarding GPCR is INCORRECT?

1. GPCRs are a large family with
common structure of seven membrane
spanning « helices.

3-A=H !

Hfe

91,

-

2. GPCRs are coupled to trimeric G
proteins comprising three subunits o, p
and ¥;

3. The Ga subunit is-a GTPase switch
protein that alternates belween an active

(‘on") state with bound GTP and an
Cmactive (*off") state with GDP.

&, The “on” form gets bound 1o fi and y

Iﬂhﬂmls and activates a inembrane-
i effector like adcnylyl cyclase,
aspholipase C or ion channel.
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92.
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3. ;ﬂﬁmhﬂtﬁfﬁﬂﬂwm

|
4. ﬁﬁmﬁﬁﬁmmﬂm

W ® U@ GwEI (B) wd

ATTHY (A) F Ay
WET shar

The following intracellular event occurs in
2 cell that is subjected to conditions of
starvation,

CEEEURD
@D b D
1-

@ e
o

Which one of the following statements
correctly represents the event shown
abave?
1. The eell is undergoing apoptotic cell
death with the help of lysosomes (A).
2. The celi is undergoing autophagy by
formation ef autophagolysosemes (C),
+ The cell is undergoing necroptosis,
4. The cell i un:_lwning:—mrtnp%y and
fusion oeeurs between lysosome (B) and
autophagolysosome (A),

HIHT Ay amerh (ECM)
urfaw uifest &0 ddrar fiysor 2
¥

Ll

ssET d wast =t my
¥ Wag 21 ECM @ ued e ]
TGP UE A @1 Foifor wed 2 vd
IR g% W Prsra 78 § Fome
C “ﬁrgf '?'a 2l
ECM Wwnaw 3t yar
ﬂﬂﬁ'ﬂﬁﬁﬂ?,ﬂmg
Ud Wea 9EE @iitas Wi ary
fammer ey |
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2. GAPs Rrnfaseral wd wwia @

The  extracellular matrix (ECM) is a
cbw;tnmhina!inn of secreted proteins

that is involved in helding cells and tissues
together, The components of ECM form &
network by binding to each other and

communicate with cells by binding to
adhesion reeptors on the eell surface.
ECM comprises mainly two classes of
macromolecules, proteoglycans and very
high molecular weight large proteins,

Which orie of the fo!lowing statements regard-

ing BCM gonstituents is INCORRECT?

I. Proteoglycans are a subset of secreted or
cell  surface-attached glycoproteins
containing covalently linked specialized
polysaccharide chains called glveosamino-
gheans (GAGs).

2. GAGs are long branched polymers of
specific repeating disaccharides of sialic
acid and glucose or galactose,

- Major types of GAGs present in ECM are
heparan sulphate, chondroitin sulphate,
dermatan sulphate, keratan sulphate and
hyaluronan,

4. Major types of large proteins present in

ECM are collagen. laminin, elastin and
fibronectin.

bed
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93. amgfys dwR sran § AR ggfal & owdy gtar 2 e fafson @ fafee
IR % W Wl P AR 2 @ afte Rftew adt @ Rafe F ggaa R e 2,
Ftefyy var &1 9wk 93 §¢ ade Siftesl S el w9 W Rl ge ads @t
ampra w1 A fear o wwm 2| Suwdel sitwfal gro vwwe-fafeem & gl
W.ﬂ.ﬁ.g.ﬂéﬂﬂﬁﬁ%ﬁmﬁﬁ#mmmh

el atuft @ v g saw A ¥, e vaufe whe sar B v srfusfy
warR CH ar w2

A B C
i) | Aatgavre a) | tetwgdteient | | | comiggitide @ Do o b 81
i) | teirags bj | MRPIEE &% | 11 | eigiatgele et o diea 31
iy | s—raErim | o) | mrew

i ST % cwa 2ar & i o
P etiesge iyl

wilasare a3ed | IV | figag @@ oetaganta 1 & w9 gz A0
ﬁrm_gmitﬁg.mﬂwr' CIRRED]
AT = 1

RV e

=1 9 @ a9 wr wad Sy oyey @ ?
L. iea-l, i-bell, ffi-e-1, iv-d-1V 2.
3. ie-MIL, fi-de1V, fii-a-l1, iv-b-1 4.

i-b-11, fi-a-11L, iii-d-1, iv-e-IV
i«d-1, ii-a-IV, iii-b=[1, iv-c-11I

93. Present-day cancer treatment uses many approaches. Beyond surgery and radiation treatment, which
are most often employed in cases of larger, more discrete tumors, drug therapies can be used to
target residual tumor cells and o attack dispersed cancers. Chemotlierapies by anti-cancer drugs are
mostly aimed at blocking DNA synthesis and cell division.

A Tist of anti-cancer drugs is given in column A, their chemical nature in column B and their
mechanism of action in column C.

A B i
i) | Methotrexate | a) | Podophyllotoxin I | Inhibits formation of tetrahydrofolate

ii) | Ftoposide b) | Pyrimidine analogue | Il | Inhibits thymidylate synthase £ ]
iii) | 5-fluorouracil |¢) | Alkaloid Il | Interfercs with breakdown of microtu-

bules required for cefl division

Forms stable complex with DNA and topo-
isomerase |l affecting re-ligation of DNA

iv) | Paclitaxel d) | Folic acid analogue | IV

Which one of the following is the most appropriate match?

L. i=a-l, fi-b-I1, iii-c-I1, iv-d-1V 2. i-b-11, ii-a-111, fii-d-l, iv-c-IV
3. i-c-IHl, fi-d-1V, fii-a-1, iv-b-I 4. i=d-1, ii-a-1V, iii-b-11, iv-c-111 -
< L
94. uikan woiRm wEfefea  (AID) yfiefrat &1 ity &

3-A-H

Toia aRfia far T o e Rt

Eﬂl’ﬁtﬂuﬁaﬂatﬁﬂmmuﬁﬁ ey eafar o |
weneer 2 ooff  aRadw o frr & @ at9 W wulr & el
ufisar 4 AID @ qfer & Pl & Sugaa fFrega 2 ?
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94. Activation-induced cytidine deaminase

3-A-H

(AID) is the key mediator of somatic

hypermutation, gene conversion and class-

switch recombination. In order to ascertain

the role of AID in classswitch
recombination, immune response apainst a

target antigen was compared between AID

knock-out mice (AID-/-) with that of mice
retaining a functional copy of the AID gene

(AID+/4-). Development of IgM and 1gG

antibodies against the target antigen was

then measured following successive

immunization and plotted graphically.

Which one of the following is the most

‘appropriate representation of the experiment?
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1. A,CEED 2. AABTED
3. CDWEE 4. B.DUAE

., Following statements were made regarding

vulval devclopment in  Caenorhabdiris
elegans:
A. The six vulval precursor cells (VPCs)
are influenced by the anchor cell to
form an equivalence group.
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B. In ihe loss of function lin-12 mutants,
hoth celis become uterine whereas in
gain of function mutants, both become
anchor cell.

C. If the anchor cell is destroyed early in
development, all the six VPCs divide

once and contribute towards the formation

of hypodermal cells.

D. The anchor cell/ventral uterine
precursor decision is due to Notch-Delta
mediated mechanism of restricting
adjacent ceil fates.

E. The paracrine factor scereted by the
anchor eell divectly activates the Nolch-
delta pathway.

Which one of the following options represgnts

a combination of correct slaiements’
L A CandD 2. A Band D
3. C,Dand E 4 B, DandE

A Ay R aw ey wgd afla @
%m#?&m{nquaﬂ-ﬁéﬁ“-f
(f-cat) @Y wfET B A ¥ 2,

AcDsh @ Prwe ofs @ gl ase @
T

2 ud it mgﬂ i
wgETE 4 sy #
reariasia s 71

B. sh &1 Jo-oF @ TN dew o
siftreea § wriasi o 2

o wgEe A e wifn o ¥

aﬂwmrmh 8 <L o
5 @ Sifwran 7
wﬁaaﬁel

p. faftem a@tvges & 99 w1 STER
Bcat @ WG HRHE F T
#wﬁaﬁ#aﬁmwﬂ*‘n
Hawy o] WIS
eﬂ'ﬁﬁhﬁ? qa TR A
Fiffea aidi @
E.mmatﬁm#mﬁ#ﬂ
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Given below are few statements regarding
the role of Disheveled (Dsh) and B-catenin
(B-cat) in the development of sea urchin,

A. Dsh is localized in the vegetal cortex of
the cocyie before fertilizution and in the
region of the 16-cell embryo about to
become the micromeres.

B. Dish is localized in the evtoso] of the
oacyte during oogenesis and in the
micromere torming blastomeres of & 16-
cell embryo.

€. f-cat accamulates predominantly in the
nricromeres and somewhat in the veg.
tier cells,

D Treatment of embrvos with Hithium

“chloride dees not allow the accumula-
tion of fl-cat in the nuelei of all blastula
cells, and the animal cells thus become
specified a5 endoderm and mesoderm.

E. When fl-cal is prevented from entering
the nucleus, the embryo develops as a
ciliated ectadermal ball,

Which one of the following options

fepresents a combination of correct

stalements?

LB, €CadE

S Cand B

20 ACand D
4, ﬂ. Prand E
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97. Which one of the following statements B. Differential methylation pattern of o
regarding limb regeneration in Salamander genes influencing leaf development and

is correct? _ morphology.

L. A normal limb is regenerated after ampu- C. Mutation in transcription factor that
tation, irrespective of whether the cut was prevents its association with promoter
made below the elbow or through the clements of genes regulating lcaf
hurnerus, development.

2. It occurs by compensatory regeneration D. Small RNA mediated inhibition of gene
and does not include formation of an expression of a homeotic gene.
apical ectodermal cap. Which one of the following options

3. Regeneration occurs through formation represents a correct combination of
of a blastema which essentially consists statements that eould explain the observed
of unspecified multipotential progenitor changes?
cells. _ l. Band C 2. Aand D

4. Proliferation of the blastema cells does. 3 Band D 4, Aand C
not require nerves or factors secreted by
the nerves, 99 cAMP HEdaT fefreadifoon

fexdlgen & fawwm 4
98. HIfYPHT W WO waven ¥ uRads @ qfie argr wyar £ zEd wEfEd
whE ot @ ansfy W agena &9 wgt d By w2

orar 21 P wod wuRtda srgetwe A THEW @ W GRlE snfiar

$ IR ¥ wearlda foar way - cAMP &1 @ard, W ovd wd

AT Bl B ol ) o genfRa s B wmead B 2|
el A SE Favenn @ gon A
AT | B. ach wcaftadl wrn w9 9
B. Sfiaf & fengem wey § aiaw : R Ricr gtar @ uvg o ard
ufial & fera wd anwfy @i Aoy fasd vd aigfa ey o
gaifda wear 2| - aael ®1d 21
c, ﬂ'iﬁ:@ m_rf ”ﬁﬁg}‘”?:}f{zm C. acg SeaRRadl @ gm1 a4 g
b Sl e e 7 @ aafia 8 s
@ weld ¥ Qoo ¢ Wt o @ ik il
e &t fafaa e )
D. Y& IWTAY & g wenradf D. RegA W& SIRISEIEY
ol sifvarfea &1 <) BIBISTETECYS & |
_ E. ¥HE & WHT cAMP %1 Paw
frg o @ sta w1 v fser &d wravr Aiater wEn A el 2
At @ wiww w qufor @ o Suvled daal & B Hr Ggeay wd 27
afeaflaa T EGdld 6w = B
e 1.AR _ o 2. A "Fl
L.BYE C 2. AYd D oA % BEED
3. BUg D 4. AUH C

99. ¢AMP signalling plays a very important

: . role in the development of Dictpostelium
98. Change in leaf morphology is observed discoidenm. Below are few statements
during transition from vegetative to related ok

reproductive phase in several plants, The A. Every amoeba at the time of

fu]lm:«-ing SIS pItpased 10 aggrepation has the potential to make,

explain the abj:-vc observation: receive and relay cAMP,

A. Alteration in t!jc gene content of leaves B. ach mutants develop normally but the
of raprgductw-: phase from those of spores formed appear glassy and are
vegetative phase. unable to perminate.

3-AH
SMTRISEME—3AH—5A


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247

(. The spores formed by the acg’
mutants germinate in the sorus itself,

. RegA is an extracellular
phosphodiesterase.

E. c¢AMP is continuously seerefed in
nanomolaramounts during aggre-
gation,

Which combination of the above statements

i5 correci?

l. Aand D 2, AandB

3. Aand E 4. Band B

. eiufrel, 189 & ve W@ & o

3-A-H
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B gearafterg HwaT
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E &9 ¥Wada swwow F ged
stferal & gl & 2 wife
-y Rmfoar & wwfy o
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frer fov @ @ast &1 & W
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. B. e D 2. ACwWED
3. B,CWdE 4 ADUgE

Torpedo; is known to serve: as a receptor
for Gurken. Deficiencies of the torpedo
gene in Drosephila cause ventralization of
the embryo. In an experiment, the germ
eell precursors from a wild type embryo
were  ransplanted  into. embryos whose
mother carried the forpeds mutation. Also,
the reverse experiment, i.e.. transplantation
of germ cell precursors  from  forpedo
mutants into wild type embryos was done,
The torpedo deficient perm cells developed
in a wild type female showed normal
dorso-ventral axis, while the wild type

germ cells developed in a torpedo deficient

female showed ventralized eog,

‘Seme of the following statements are
drawn from the above experiments and

same from known facts 1o understand the

functioning of Terpedo.

AP vgotic contribution of Torpedo is
esseniial for the development of dorso-
ventral axis.

B. Maternal contribution of Tarpedo is
essential for the development of dorso-
ventral axis.

C. Since Torpedo is-a receptor for Gurken
and follicle cells surround the part of the
oocyte where Gurken is expressed, itis
likely that Torpedo is expressed in
follicte cells:

. Gurken signalling initially dorsalizes the
follicle.cells, which in turit send signal
to organizc the dorso-ventral poldrity in
oocyte,

E. Gurken signalling initially dorsalizes the
nurse cells which help in generation of
dorso-ventral polarity in oocyte.

Which one of the following combination of
statements is most appropriate?

1. B, Cand B 2. ACand B
3B, Cand E 4, A, Dand E

511 RISE/18—3A—5B
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Stomatal aE.rture

Time [H) Tirna fhj

Stomata  from detached epidermis of
common davflower (Commelima
communis) were treated with saturating
photon fluxes of red light. In a parallel
treatment, stomata treated with red light
were also  iHuminated with blue light
(indicated by ‘arrow). From the graphs
shown below, select the correct pattern of
stormata opening (solid lines and dotted
lines represent stomatal aperture under red
and blue lights. réspectively).

Slomatal
Stomatal ;afn.r!urz
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i

i

i

i

1]
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¥ ufefifiig ghar 2

C. wiawt ¥ 99 swvw wree
fasiy wy @ Uodlofle argaftan
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D. wfaest @1 i &1
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s A @ wls W oue oulan wuwt
®1 el wiema & ?
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Following are certain staicments regarding

Rubiseo. the predominant protein in plam

leaves that catalyzes the initial reaction of

the Calvin-Benson evele,

A. During the oxygenase activity of Rubisco,
(0, 1s used as substrate to produce three-
carbon melecule, I-phosphoglycerate and
two-carbon molecule, 2-phosphoglycalate.

B. In red and brown algae, the large subunit
of Rubisco is localized in the chloroplast
while small subunit is localized in the
nucleus.

C. The bound sugar phosphates in Rubisco
are specilically removed by an ATP
dependent enzyme, Rubisco activase.

[). The active form of Rubisco catalyzes
carboxylation or exygenation reactions
in five steps. :

Which one of the following combinations

of above statements is correct?.

LA Band C 20 A;Band D

3. B. Cand D 4. A/ Cand D
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A, TWHY Tgdrt 91 (PRR), 3T
Sfamy was  wWedl & (PAPMs/
MAMPs) Wie[d &% & geEn ot
a1 ufreen &t wfsn s 2
fows  uRom w@ey s
afzer (PT1) &lar 21

B. AvwPto ©HIEY @ uld 7 UF
gfdtars ot & @t & dHedfon
weAaa et pv. emex @
armor & fawg wrd e 2

C. vmvpat gry S weraaE s
gopg ataf Hflﬁ‘ﬂ-ﬁ’{ yfdtas
w9 gra gearn arar #, afed
ufiRta®s  aturr &l ';rm‘clﬁtnﬁ
s yfen ®ed (B11) 2 |

D. PTI & otua  afsa gfdwen
wrdfafty wEnwrmEn BT 6 Sl
g aret B gaT A wwEd s
2|

frsr & & Y W U audtad, Al

&1 Hdl ugeEy 8 ?
. ATgd B 2. CwWE D
3.A¥EC 4, By@D

Given below are certain  statoments
regarding plant-pathogen interactions:

A, The pattern recognition receptor (PRR),
upen perceiving pathogen or microbe-
associated patterns (PAPMs/MAMPs),
activates plant defenses resulting in
pattern triggered immunity (PT1).

B. AvrPto is a resistance gene in tomato
that acts against pathogenic attack by
the bacterium Psendomonas syringae
pv_ lomato.

. The effector molecules produced by
pathogen is recognized by resistance (R)
gene present in plants resulting into a
defense stratéey known as effector
triggered immunity (ETT).

D. Defense mechamisms triggered in plants
during PTI are usually stronger than
those during ETI.

Which one of the following combinations

of above statements is correct?

I, Aand B 2, CandD

3. Aand C 4. BandD
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To characterize the mechanism/s by which
heat-stress is perceived in Amhndupsm a
team of researchers fused a He:at Shock
promoter with luciferase gene. Transgenic
plants having promoter:luciferase fusion
were raised. Such plants revealed strong
luciferase expression upon hf:at-sirﬁ‘sq but
they showed no  expression under
unstressed control condition, Subsequently,
these transgenic plants were mutagenized
by EMS and seeds from F, generation were
obtained. To analyze the downstream
positive regulators of heat-stress, the
researchers should analyze seedlings that
are
1, expressing luciferase in the presence of
heat-stress
2. not expressing luciferase in the presence
of heat-stress
3. expressing luciferase in the absence of
heat-stress
4. not expressing luciferase in the absence
of heat-stress
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UH  aMgadrell gwrdt ® 9 g
dawar dgE 4w Pl ww P2 W
QUHB F, 49 &1 avwes &l Ao
fom wm, Rt qorgrs @Y g
6N & afy g9 F, do @ soifa
gtalf @1 wfla udsor Pl @ Wy
foar e ot wivw SifreEr @)
FALUEr A worw § e et ?
1. 2N 2. 4N

3. SN 4. 6N

Two near inbred parental lines Pl and P2
of an angiosperm species are crossed 1o
produce Fy seeds in which; the ploidy of
the endosperm is 6N. If plants generated
from these F; seeds are backorossed with
P1, what will be the ploidy ‘of the somatic
cells in the next generation?

. 2N 2. 4N

3, 5N 4. 6N

Ara oy g wreell @ dare | avrd
gtal & simsiEn ofitess & ysrl
& gufar & o7 sae 1 uRasa wf
wt gurtar )
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1. A-i, B-ii, C-iii
3. A-iii, B-ii, C-i

2. A-ii, B-i, CHii
4. A-i, B-iii, Ceii

The table given below represents the types
of iritercellular transport in “Column [ in
land plants and their transport pathwavs in
“Column 17, i

107,

7.
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I = i
A. | Apoplastic  [i. Via intérconnecting
[ plasmodesmata, |
Hii. Via the water nilled
spaces  of the cell
wall  matrices. and |
lumen of  xylem |
Skl tracheary elements,
| C.. | Transcellular [iif.Via the vacuole
transport across the tonoplast
followed by exit
deross  the  plasma
membrane beforg
regaining entry to the
adjacent cell through
the plasma
| meimbrang.

B 53-1_-7? plastic

Which one of the following combinations
matchies column | correcily with column 11
L A=, B-ii, C-i 2. A, BAiy G-
3. A<, BLi, €4 4. A, BAii, C-if

g A BiER SIS (RBC) § CF

@Y A T e @ qEn d

Rrows v F wlere grr S 2

&1 ddmor B amwar w3 @ faw

1 geara fae o4

A. BR® wirem & wem pco, @)
WET RBC W CO, & wffrs e
od H.CO, @ Pofo & spard
HIAT

B. RARMR® @@ & RBC ¥ HCo; #)
T W @ g ¥ e 98

s g ;

C. Na® —Hco; Rmafexr & wegm A
FN®  HCo; BnTRes 99 &
RBC & Na*t & wry oan gy 2

D. anftg sdremr 4 ad g7 Nat @)
AT @1 uR@Es ¢ @ | RBC
q @ar &)

et fee w0 f@eat F 4 wag suat

The CI” content of red blood cells (RBCs)
in the venous blood was found to be higher
than that in arterial blood in a human

- subject, Following proposals were made to

explain these observations:
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A. The high pC{':ll in'venous plasma leads
to increased diffusion of COs into RBC
and the formation of HyCOs,

B. HCOZF content in the RBC of venous
blood becomes much greater than that in
plasina.

€. The excess HCOZ leaves the RBC of
venous blood alongwith Na'® to plasma
bya Na* — HCO3 symporter.

I3, The inereased Ma® in the venous plasma
is transported to the RBC along with CI

Select the combination with INCORRECT

statements from the following options.

1. Aand B 2, BandC

¥ Aand D 4. Cand D

WA & umrn goectefEgtam
qECGg;-a'# faftr=r adat &t N qufar
Le

4
my¥. 0 =
o
—h
Time (s}

fr @oAl 7 gaw @ ® gt
d ECGaEnT & fi| & Al &
ywaifaa far wam ¢ |

A P a¥n @ wafa uRets &€

famgaer & wieft 29
B. T adn & wigft & fag uRwhad
v gaverdl 81
£ fagaor & BRI QRS

wrfte & Fafor ghar 2
B. Q-1 swrore @fis ey fmy @
Reia & sufar 21

st fae 1 et § @ e su=i
@ UTEE AT B

ILATEB 2. BedC

3. 0D 4. By D

The  different waves of normal
electrocardiogram (ECG) of a  human
subject are shown below:
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The relationship of the events of cardiac
cycle to these ECG waves are proposed in
the following statements:

M. The P wave oceurs due 1o the depolari-
zation of atria

B, The atrial repolarization is responsible
for the T wave

C. The QRS complex occurs during
ventricular depolarization

D. Q - T interval indicates plateau portion
of auricular sction potential

Select the combination with INCORRECT

statements from the following eptions:

1. A‘and B 2. BandC

3. Cand D 4, BandD
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"rﬁ fazenus & fov maaﬁvm T

ﬁ’lﬂrﬁm 74 fawsal 4 4 wew wuel
@ T ST AT WY |

l.AUG B 2, B@WEC

3 CcuwED 4. AWEC
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109, The excitation of auditory hair cells by the €. ‘B’ peak was inhibited by lower intensity
displacement of  stereocilis has  been of pressure
explained in the following proposed D. *C" peak was inhibited by lower intensity
statements:, of pressure
A The gradual increased height of stereo- E. "A" peak was inhibited by higher intensity
cilia is required for the transduction of pressure
process Select the option with the combination of
B. The changes of membrane potential of CORRECT statements.
auditory hair cells are proportional to the . Aand B 2. BandC
direction and magnitude of the displace- L. Cand D 4. DandE
ment of stereocilia
C. The higher concentration of K" in éndo- 1. g9& AAfasr & aem gl (ware A)
lymph and higher concentration of Na' in ayr siferer &irEr & aw el o
perilymph are not required for the Na' uRmes @ srdyordl (wae B)
cxcitation of hair cells. N awoftas frar T &
D. The mechanically sensitive cation )
channels on the top of stercocilia are not S : =
adapted to maintain displacement of IR 1 - il £
stereocilia (e sy S e = ]
Select the combination with INCORRECT e :@m o mmﬂﬁ |
statements from the following options: Oy pata.m (WP St Sy
. Aand B 2. BandC it iz
: : ' wsell fareror
3, Cand D 4. AandC e Fhi
() 'ﬂi%_ g1 | (i) - Tl
10, FowEmrd fidm dfyer @ s i k R T T
o fasa Rrae (19 f5 A, B U@ ) bl | a2
Af®r oY wed Tad @ wre uRakia SRR 0
glar 21 atfirs fsar 'Ti‘rrrﬁif MUy
aRed N Fiffse fg o et
A, @9 Ao ® Tare @ A ﬁm
SRt &rar | ﬁﬁﬁﬂﬁﬁﬁﬂgﬁﬂmmﬁl
B, e dlaar @ <ard @ ¢ RrEy L a—{iii), b={iv), e— (1), d = (i)
aaifra grar 2 il 2. a— (iv b (iii), € —(ii), d - (i)
C. B9 fae B card ¥ B e S.Asibb i) d - (Y]
i =re 2 | dia= (i), b—{i), c = (iv), d - (iin)
D. @7 A & qard § ¢ Ry F11. The different segments of renal tubule
m?ﬂ:ﬁ?r[ BT ¢ | {column A) and the mechanism of Na'
E. o fluar & aerd A P transpart in the apical meémbrane of tubular
ﬁﬁﬂﬁg ?:"IEITT 2 . cells (column B) are tabulated below:
f Rl Y H1 9499 @
. AWd B 2. BWEC Column A Column B
1, 0w D 4. DUIE {a) | Proximal iy pPNa“-€}
tubule symporter |
110. The peaks of the compound action (b) | Thick (i) | Diffusion
potential (i.e.. A; B and C) recorded from a ascending through Na' - |
mammalian mixed nerve were affected loop of selective
alter application of increasing pressure on Henle channel (ENaC) |
the nerve. Some probable changes of () | Early distal | (iil) | Na’- glucose
compound action-are stated below: tubule v, sympaorter g
A, “A’ peak was inhibited by lower intensity (d) | Late distal | (iv) | 1 Na'-1 K™ -2
of pressure tubule and Cl Symporter
B. 'C’ peak was inhibited by higher intensity collecting
of pressure duet

3-A-H
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Select the option with the correct maiches:
1. a—(iii), b-(iv), e — (i} d = (ii)
2. a—(iv), b (i), ¢ — (ii). d - (i)
3. a— (i), b (i), e — (i), d - (iv)
4. a (i), b— (i), ¢~ (iv), d - (iii)

frd g § was # womw few
fFefyr, fades va R afsar )
sofar war 2
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- A=WT1 (Wilm’s Tumor 1), B=MIS
(Mullerian Inhibitory Substance), C =
SRY, D= Testosterone

2. A=GnRH, B = FSH, C = Testosterone,
D= 5o Reductase

3. A=SRY, B =MIS, C = Testosterone,
D = DHT (Dihydrotestosterone)

4, A=WTI1, B = LH, C = ABP (Androgen
Binding Protein), D = Inhibin

Y+22 X+22 .
13, Ua &g wigr gHaifeen &1 waa
@ UIEd GHR B A § HOA T | 9r
. dgaEt (F) & Fra gwfd o e
YR & W g T |
mlwal T [/ Mo female genitatia sl _
[al} € |~ Mala intarnal geriitalia [omvwey [vda [uiga |aques pag wre
Embryonic. = i J arent weTe | fine Ty
testis e | CiE Bk U]
I t T ?f%ﬁ
Adult Mal el -ﬂiﬂl[_ 50 3 J-—
testis ‘ = sun:a’rﬁfrll:rc&

4 et o wda sma w4 s
R #feq seRads xw@ mv vd
et 2, e o gt e

1. A= WTI (fasn eq=x 1), B = MIS

yeftgs gafefaed wsu2=w C A Fyrrem N g R @) § o e
=SRY, D = SRS Gy

2. A =GnRH, B = FSH, C = ¥y, B. ¥dq amwal wd aspuve R wRa B
D = 5o YEdw iy @) goafty vawa, aveges @

3. A=S8RY, B = MIS, C = %eewra, D DIV LT 2|
= DHT (SISpRgIe ey C. vdq #re gq srqweer fm i o

@ dra & Wt o 12oM sie
AT 2

D. &g ae uq aquew R i
it @& dra @ 5faa @ﬁ'f}cM

A= WTLB=LH, C= ABP (tgiolq
arglagn utdm), D= gaftfas

.J‘:.

112, The figure below represents normal sex

determination, dlfl"tre:nnahﬂn and deve!np HiwT L &1 ;
ment in humans. E: 3pfl F, merd uisgd UsR & 89
Y+22 X422 & anife @

Fi, 9T%d Y& & =¢ @ 9ol

S : i
R @ a1 gf 2

el WAl & uEEy &

+ :
Biptendial o LR F 5 ABD
gonad F__H- |H|-""' Ko female genitatia 3. A, D F 4. B,DE
[Al} " C|-» Maleintemnal genitalia
E“‘;:’:’:" e 113. A virgin Drosophila female was crossed
3 with a wild type malée. The F, progeny
P SR S obtained had four types of males as shown
lastis ‘ = '—3-4_, nn:hm'actqris::nu below.

Identify A, B, C and D,

3-AH
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T one e e e
Phena- White | Wild | Cross- | White P
tpe eyed |ype | veintess | eved and —I fatus s s
CrOREVEIn- al b c d | e
loss
— 1 . - - L 1 Hlm|m]| m| *
Number | 50 | 3 44 3 . .
| . ; i T TERE e e
Assuming that white eye and crossveinless 3 £l F* % |'m |'m
mutations are X-linked and recessive, the 4 ml & | & | % b
following statements were made: 5 R Z S T
A. Fy females were also of four types as
that of males.
B The white eved erossveinless male fHes (G111 SRR R 1 uv. uigt
appeared duc to independent assortment. gafrafta et & TVRRE 0¥
C. The map distance between the genes for e w2
white eve and erossveinless is estimated 1. Bodes 2 e
(0 12 i, 3. beead 4. cdbea

% The map distance between white ey
and crossveinless is estimated to be 6 eM.

114. The locati [ five lapping deleti
E. All F; females arc expeeted to be wild o o S overappiE deletiony

have been mapped to a Drpsophila

AR :hromosome as shown below
F. The F, wild type males appeared due to (LSS S e el

crossing over.

The combination with correet statements'is: Doletion 1

B e 2. AGBRD Deletion 2

3. A BLF 4, B.D.E i .
4. 9ra owarameft faeifoa vt =t iy

sifen R W P R

Al fear

(Horizontal lines in the above figure

indicate the deleted regions)
Detetion 1
Deletion 2 ! Recessive mutations a, b, ¢, d and ¢ are
Ereletion 3 - known to be located within this region, but
Detetion 4 the arder of mutations an the chromosome
Daletion 5- is ot known. When the flies homozygous
for the recessive mutations are crossed with
flies homozypgous for the deletions. the
(udten  Yenfas o CHVECRI ] following results are obtained (letter “m™
faaifaa d=t st gufar 2) represents mutant  phenotype and 4"
represents the wild type).
aguHTd gaafafifa o boc. d vd o @7
1 831 & aey aEfera gl fafam Deletion Mutation
2 AT g1 YwmE w @ alblec|d]e
gaRadtat &1 @0 astsma 21 oW g ¥ felm o] ]+
gl swfadal @ fag wngeh TR | P s
afraal &1 gvieewr faate @ oo e T e P B e
wigoft afrgal @ fear wm, Pee . o P g
oRem yiw ®U (FER “m SweRads L
AWOT YIeY H gwiar & gey <4 A 8 IR 5.3 L

uTET gER & gwfar )

3-AH
SHIRISE/MTE—3AH—EA
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115,

L5,

3-A-H

On the basis of the above data, the relative
order of the five mutant genes on the
chromaosoime is

l. "bedea 2]l
3. buead 4,

A eufwr mar dwmEed X W uw
g4 ardd (30 9 @ 9 @ wranm)

§ T s 100% sadas
2, ® durgsn ufrsy &1 gt we
'ﬁlwﬁﬁﬂlﬁﬂﬁﬁﬂﬁﬂﬁﬁﬂ'ﬂ’f
(afEar) m 9¥ & (g&w) <
%mm%l%mm%nﬁa%%’::
® RFLP Rzdsw s dwmaeh &

s gertar war 2

Bd Ti6 Wi TIPR D00 D004

abode
qdbea

Emralrnn

chhé:éé

Ia th 1 e

&I 4 gla-gtEa (b | 1) 30 o
W UH WIW @ B gvErd 9w W
qwrl‘-a'fr Hiud!

. @9 b

z. g Wb wF e

3. gat lleud Hid

4, ST b wE 11d

The pedigree given below follows the inheri-
tance pattern of a late-onset (after age of 30
years) genctic disease that is 100% penetrant:
Affected individuals are indicated by a solid
circle (woman) or solid square (males): RFLP
analysis ‘of DNA from each individual is
shown below in the pedigree.

GET IT ON

Google Play

R

la I Hu le Id. It lls Ui bife WIQ

Which grandehildren (11b to 1THd) will be
affected by the disease after attaining the
age of 30 years?

1. Only b

2. Both HHband 1lle

3. Both Ileand 11k

4. Both lilb.and 1114

. U worEs gutrmen ¥ W o

atfirst @1 wvaww & g o

e X, v wd 7 feany i
Aifrel @1 gaRadaeelt g &

ey & yeag ve arpdfaie
4 dwm & A awltw
weaRadorll 2 1 sngafefas 3 us
t alflew fen 6 g9 Aifet @ g
ﬁ‘ﬁaﬁma-trﬁaﬁﬂﬁ{ﬂiw
weqRadorfial @ =geita fear o
wwal &, vd = aRemy g gam

aoultads BT apewta [par qua
O G .|
wewifag,

Meeign 20 W Qo= O )
gy | erggtira | ofEiEa |
ae ol | aea |

X & e qur |
A
7 e e ]

A e s X, v ud 7 Reel o et
famtoRads @ yee ans Raie
»t R & wear @ oy g9 gt
gra denfyg SoRaffal @ wafa @
a7 wur Freed Prarda?

SMIRISENE—3AH—GE
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1. X fnicRads s 2 v 117. & @fda & e gfreatm fagrgoh
teaRads svar & Z yhd aNE sravermr # #| AE yatm W
fretas wwar 2 W ABCDEFG &gm ﬁrfi*sﬂm?
2. X watcoRads s 2, v wafE giRelfe oeE 9w g8 wdd
fawgrefads s & 2 vea aww abedefe @ fafea 21 W4 R
et swar 2 for g1 =19 W qongEt @ g
3. X wnieaRads & 2 v uaa ® adyEm @ shve qufar @ aer
and ety s #; 7 faftrm v & gfaa s 8
fasmteafvadsr @ 2
4. X fremiaRads s 2, v vaa
ard fadias svar 2 7 wmafads
HET £ |
116. A chemist synthesizes three new chemical
compounds in the laboratory and names
them as X, Y and Z. After analysing
mutagenic: potential  of all  these
compounds, the geneticist observed that all
are highly mutagenic. The geneticist also
tested the potential of mutations induced by
these compounds to be reversed by other
known mutagens and oblained | the
following results.
Mutat- (¥ Reversed by ¢ fafrm & g w@ ool @
ons geld B YW UE TP
produced Udeldar LEEIRITS UL
by e ERUEGECEE ]
Nitrous I Hydroxy- | Acridine D. &d &N gl d Rates @ /m
acid lamine orange frerr ghr oy ahifaa et
X Yes (f some | Mo E. - 50% gorsl ¥ geafre s v
Y o S e Ng aufifea &, S@fd s0% 7w
Sl Mo Ne | Yes | o srpreioe aefaa 2 oifag
Assumning that X. Y and Z caused any of £ fﬁl qerd=d ufrewt 2
the three types of mulations, transition, = e A
:;}a:;.:.;f;:;lcoa; s:ng!e :::k»a.sr: ]ifiumn. what !. worit w Brer fiu wd @t
you make about the nature : i :
of mutations produced by  these ey Wel e 9 ufoa e 3{&‘@
compounds? ' Tefreit w1 ﬁﬁﬂw wdr @ 7
1. X causes transversion; Y causes I A BT‘T i 2, N CEUHE
transition; 7 causes single base deletion 3B ETaF R e
2. X causes fransition; ¥ causes
lfaﬁsvcrsiun:Z::auscs.ﬁingie base 117. An individual is having an inversion in
deletion heterozygous condition. The regions on
3. X causes transilion; Y causes single normal.  chromosome are marked as
base deletion: # causes transversion ABCDEFG  while the chromosome
4. X causes transversion; Y causes single having inversion has the regions as
base deletion; & causes transition abedefs.  The diagram given below

shows pairing of these two homologuous
chremosomes during meiosis and the site
olfa crossing over is indicated:

3-A-H
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Mumber of recombmants

3-A-H
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The following statements are given to

describe the inversion and the consequence

of crossing over shown in the above

diagram;

Au This isa pericentric inversion

B. This will generate a dicentric and an
acentric chromosome following
separation of chromosomes after
crossing over

C. This will penerate two monoccntric
recombinant chramosomes following
separation of chromoesemes after
crossing over

D. All the gametes thus formed will have
deletion and/or duplication and will be
non-viable

E. 50% of the gameles having recombinant
chromatid will be non-viable, while 50%
gametes having non-recombinant
chromatid will survive

E. This is a paracentric inversion

Which combination of the above
statements  describe  the inversion and
meiotic consequences corectly?

Lo, BandC

28, Cand E

3. B Eand ¥

4. .0 and

& Hfr " Hir-1 (arg’ leu gal’ ste)) Ta
Hfr-2 {arg’ his' gal’ pur' st ) &1 F -9
(arg feu gal” his” pur® stir’) ¥ WA wEAT
AT BN oaftg wn gdterer gl
w1 MR fae 7@ apcla &9 Hom o
b W gwid @ &

(=]

an s’
his sir

Fgal s

urniier of recombinants

Fu_u-w
e

(=] it W 1 X B
Tt of interF o N minules T ol (nleti wpison in maenales

118.

Mismder of iecembilnants

119.
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undten g & amaw R, gEen
ax & @t W Aeaw af gor @
farera & am & ufvfafag s 2

arg  dou hig pur
1 f } f q]“ i
arg  his ey gal Pl
2 } i i 1 t
arg  his g?'l leu et
4 T t 1 { +
ang heu gal fis paar
4 LBl B

Two Hir steains, Hifr-1 (arg’ feu" gal’ str’)
and Hir-2 {arg’ his" pal’ pur s’ ) were
mated with a " strain (arg lew” gal” his
pur® str'), The results of the interrupted
mating experiment are shown as plots ‘s’

and "B, respectively.
b

Pl
his gir®

AR

ﬁr'ﬂr‘
> w

10 i 3 2
Tirrw ol bralase s upticn iy milrades

Humbssr of iecombmants

o 20 At 40
Tarme of Berraption i minudles

Based on these results, identify which of
the eptions accurately reflects the order of
logi?

arg lew  his gl pur

1 =+ 1 t ? }
arg  his ey | purt

> W &
arg his gal leu purt

3 i i f } }
arg lou gal his purt

4 —

Fpvesl  dfer g @ i

SivaaTors fquramat (A, B wd ©) @
i fvar w3 | wREaors foeiwanat @
agferfy &t <o @y fem o 2
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F-A-H

4. ASHUE  df¥er o,

A ] c
SPIRALIA +
== LORICIFERA *
NEMATODA +
NEMATOMORPHA +
ONYCHOPHORA  + +
ARTHROPODA + *
fetwmal & faovor @ ufey @

&Lt -

Riral

1. A-agra dfae

g
Per =y R

2. AR fewn Bgua dfyer

Youl C-7NA ST o
3. ARRE nfow, Byra afyer
Yool C-3 el dfr Yool
B-freen

Wewar cqua qf¥sr v :
Thrée anatomical characieristics (AL B and

C) of invertebrate nervous system are used
te build a generalized cladogram “given

below, Presence: of the anatomical
character is indicated by *+°
A B €
SPIRALIA - +
LORICIFERA +
NEMATODA +
NEMATOMORPHA .
- ONYCHOPHORA  + *
ARTHROPODA + *

Based on the pattern of character distribution,

pick the correct combination that arc

represented by A, B and ©

1. A-unpaired nerve cord, B-paired nerve
cord, C-cephalic ganglia

2. A-cephalic ganglia, B-unpaired nerve
cord, C-paired nerve cord

3. A-cephalic ganglia, B-paired nerve
cord, C-unpaired nerve cord

4. A-unpaired nerve cord, B-cephatic
ganglia, C-paired nerve cord

45
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120. Frofefr arorawer & e e @
fog, ataf 3 fafm yer @ Ry
o1ifff® sqEwl & smfvla fear 2
M Re o afwsr ¥ ey
ftvonal (ur A) ©@ Ware el
(®ae B) & e qf feur w2

. @arRA HAR B |
A. | #00 ey | (i) Wit ameiad
‘B, [ater va (i) ol geer &
faftrga T
wifrm1 Fif :
C. | wwsrehiaan (iii) frcEm & e
B. | ¥uaar {iv) saelt womefl |

R e W@ @t @ o e
ITHESAT T wTe sy w1 owd
fremr=r gorfar 2

LA=(iv)y B-(i)y C-(i), D)
2. A (i), B—(), C€=(iv), D - (i)
3. A-(ii), B-(ii), C-(ii), D-(i)
4. A=(i), B-(iv), C-(ii), D—(iv)

L

120 In order to survive in a noR-aguatic

environment, plants  acquired  several
adaptations with specialized functions.
Given below is a list of

features/characteristics. (Column A) and
their potential role (Column B

. Column A Column B
A | Waxy cuticle i) Mechanical |
support
B. | Thickened or {ii) iecton
lignified cell inst
L walls excess light |
C. | Homoiohydry (iii) }Rcsu-ict
e water loss
D. | Pigmentation (iv) Vascular
| system

Which one of the following options
represents a correct match between the
adaptations and their functions?

I A—(iv). B=(il), C-(i), D-(iii)
2. A-(iii), B-(), C—(iv), D~ (ii)
3, A (i) B-(ii}, C-{ii), D-(i)
4. A-(), B-(iv), € (i) D—(iv)
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21. P wwell aluiwger w91 & Wi 122. frer mreoht wdtsw ud dted @)

g afyafe Retemat &t gata woifar 2
(|
M FASH = e
| fagtuard : W AL sl sngedioh | (i) sl B
— ok i C B. d=iifeagn (it} anf¥s
qrpla e wifhisn + - L C, wadrangE (iii) = g
agdeas ey aaal & D, gfiatew | (iv) T (R} |
e |
%“***ﬁfgﬂ ;3“**““““ Fl= fret § & w7 W tw Swde @
dram] gaitg @ | |+ = - wEl ¥ €7 :
& T | LA =, l}—{w} C=m) B=0)
== 2. A=) b ={i), E=liiik D - (iv}
aaflem _ apsyafrera 30 A =i, B-(iv), C={iii), D—(1)
peisiad o1 4. A—(iii), B-(), C=(i) D-(iv)
zoifar 2 B W Ry C 122. Following table shows a list of clades and
I A - HI@AREETC, B - b |
arieIger C-Q‘w}?ﬁi”lm e v e ey
"‘ : {‘ladt;g- Plants
fors:; eoiteiwTgeT [ B. Magnolids (iiyOrchid |
3. A weliteigen, B - e AREse, E___Manumth (iii) Star anise
C - aRNETETT : _ | D% Eudicots | (iv) Strawberry
4, A-9mohwrgen B - CHINISIEel,
C-aT® ATaHIEe Which one of the following isa correct

miatch for the abnw:’
121. Following table presents bryophyte phyla |

with their seleeted characteristics: b A—(il)y -B—{iv), C—{i), D- (i)
5 oA=(ii), B C =ik D - (iv)
Characters Phylum 3.A -G B-(@w)., © i), D-(D
AlB IC 4. A —(iii), 11 (i), C-(iik D—=(iv)
Gametophyte cells with |+ |+ | = .
numerois chloroplasts ' 123, fr wmeoft sRat @ (@A A)
Gametophytewith | # == vd I ey wEer (war B) i
multicellular rhizoid E 2 ;
Sporophyte bodywith |+ |- |+
(e ae HAT A | SR B
A SEl BUHS | i A@ER FH
e B | B.wife®t | | i swwe ubea
In the above table, phyla A, B and C ' L B0l @l ggl | g0 wgY _ﬁﬁi’m
represent p. smadeh ﬁﬂ_ iv, EUE Wi
1. A — Marchantiophyta, B - Bryophyta,
C- Anthocemmphylﬁ- oo o 9 'ﬂﬁ*-'r o fassg ﬁﬁ?ﬂ afts
2. A - Bryophyta, B - Marchantiophyta, g fagw a‘mw & adl sl i
C - Anthocerotophyta PR T F '?
3. A - Anthocerotophyia, B — oA it B~ id C e D i
Marchantiophyta, C - Bryophyta 3 A—iinB—i:C il D~
4. A — Bryophyta, B — Anthocerotophyta, 3. A—iviB—iit C—i: D —iii
€ - Marchantiophyta 4, A—EB-iiils C—ivi D~ i

3-A-H


https://www.adda247.com/?srsltid=AfmBOoqRk3UqfpnwDGIlqavz8sr8AMnaqqNchSHQUM30ClA6h9cVzI-5
https://play.google.com/store/apps/details?_gl=1%2A1uz474i%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

Addal247)

47

123,

124,

3-A-H

The following table shows names of bones
(Column A) and specific features (Column B).

| ColumnA
A, Axis veriebra

[ ColumnB™ |
|i. Deltoid ridge

i Acromion process
| ifi.0dontoid process
iv. Sigmoid notch

B. Humerus

| B, Pectoral girdle i

Which one of the following options gives
the correct match of the bones with their
specific features?
LA-EB-;C-ivD-ii

2o A=IEB =1 O =i D=y

S A-vB—it:C—i:D=ii

L A-uB-iiil; C-ivyD—ii

2 R o g wteresr @ e
w Uq dFarat @
e gwld ® | watel dfyerat w8t A
B.Cvd D ¥ aifswr fasy 1 2 s
r}‘_ﬁaﬁqmﬁmara.ﬂ,_cvaniﬁf
A5 & Wl Tl A quly 2 ?

e
%/

Lo Aoty sigifrer B- arar
Hass  ofrs woish C-uits
T D-grar  ufee—aniEs
warft) _

2. Aunflasely  walsh: B apar

aRass gfes waifersr coufes

s, Darwr eRe-aife

3 afdil |

A-STHUTH iiirﬁ‘?:mﬂ; B- BT

yfem mﬂ: C-ufes %FW;

D-9T91 Ug—q&r HHia |

4 Agufaraty WAl B- afgr aftass
nikass Haiﬁ:m‘n C-ufaw mlﬁl,
DR g watfimer

fed

124,

125,

GET IT ON

Google Play

The figure below shows the nervous system |
of Mollusea with ganglia and the connecting
nerves. The connecting nerves are labelled as
AB, Cand D,

e
%/

Which one of the following options has

correct labelling of A, B, C and 07

l. A-Cerebral commissure; B-Left
Cerebropedal connective:
C-Pedal commissure: D-Left Pedal-
visceral connective

2. A-Cerebral connective: B-Left Cerebio-
pedal commissure;
C-Pedal connective: D-Left Pedal-
visceral commissure

3. A-Occipital commissure: B-Occipito-

pedal connective;
C-Pedal commissure: D-Left Pedo-
caudal connective '

4. A-Cerebral connective; B-Left Cerebro-
pedal commissure:
C-Pedal commissure; D-Pedal-caudal
connective

A fRu T wo wer aguntsh we

gn?mnﬁaﬂ’ & wol suead & an W
[

A, mrgmarsiiat & = ufturs
BIAA & ARy P g
BIAT 2 |

B. smuwishai & = ofiyrs
BIAAT & Al wew  Swrgd
Bl 2

C. smodshat o  wew  yRurs
BIEA & wEfeE e werew
I 2|

D, gicdisfiat & P gy
THEN ¢ orafs 9= wegrew
I 2 |

Pt o 4 @t W s st B o

Thmor gerfar @ 2

LAY B 2. BEEC

3. CwWED 4. AWEC
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125. Following are eertain statements regarding

126.

126.

127.

3-A-H

enerpy efficiencies of ectotherms and
endotherms:
A, Ectotherms have high assimilation
efficiency but low production efficiency,
B. Ectotherms have low assimilation

efficiency but high production efficiency.

C. Endothermshave high assimilation
efficiency but low production efficiency.
D. Endotherms have low assimilation

efficiency but high production efficiency.

Which one of the following represents the
combination of correct statements?

‘1. Aand B 2. BandC

3. Cand D 4 KandC

42 fay v o e gaefal @
wgal @ dmfre  aeve W
wafad & |

B. ®gdl W T4 wifa &1 @I
guferfey

C. wwan & Rigra @ aqufafy

D. @dd Bldiersy vd faicEsd &)
guferfy

wft fyww &1 geE WY wilie

gt @  wmawer  ggfo @l
af & wrmever ggfa € a@T
#1

1. AABE@ED
3. @®4d AUEC

2. ABEEC
4, ACTED

Given below are some properties related to
botanical and zoological nomenclature.

A, Absence of tautonyms

B. Presence of genus and specics ranks only
C. Absence of principle of coordination

D. Presence of only holotype and neotyvpe
Select the correct combination that
distinguishes botanical nomenclature from
zoological nomenclature system,

. A.Band D 2. ABandC
3, Aand Conly 4. A, Cand D

ygfawer  wwgitar wd d= @1 ol
el 21

48

127.

128

s fam

amEt aftafera & |
A, | afid wdan | (j) | ol e
B, | wralaln (i) | @avins sat
anaal uz w1 |
A
Fram=m a-n
ued ARl
pol=s! | Fraera svar
C. | wutel argsl | (i) | Prea dal
LE & aual-r &)
B B
D, | werwete (iv) | rdF
wHHle ygHsl 9¢
2 sl
f=r o @ @t T Wl wipeay @ ?

LA — (i), B~ (i), C - (iv), D - (iii)
2. A —(ii), B —{i}, € - (i), D~ (iv)
3. A~ {iv), B — (i) C (i), D — (ii)
4. A —(ii). B {iv), € — (iii), D — (i)

Following table gives a listof international
environmental agreements and areas covered.

Apreement | Area covered -
A, | Basel (1) | Biosafety
conventionn |
B. | Cartagena (i1} | Conwrol of
protocol ' trans-
Lo boundary
| movement of
hazardous
wastes and
their disposal
C. | Kyoto {iii) | Greenhouse
protocol gas emissian
| . reductions.
0. | Stockholm {iv) | Persistent
convention organic
1 pollutants

Which of the following is correct
combimtion?
. A= (i), B- (i), C - (iv), D-(ii})
A=(ii), B = (D), € - (i), D—(iv)
A= (iv), B — (). € = i), D— (i)
. A =(ii), B - (iv), C - (iii), D - (i)

oL pa —

“sifan-areaw & ol
5 ufva wifem goiom 2 fraa
e g onfy fagm B2 @ e
W F Y 21
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"

P fean s @w luen: & e
=ofl & amaw T ¥

(TR v F qraym

(ii) urr: wrtfigs

(iii) witfegn o

(v) Iregan Ffaa

Fret & | #t9 w1 ve afree witfe
A Ry T 5w B v wd YAy
q U¥ga awen 2 ?

L. a— (i), b— (iii), e - (iv); d — (i)

2. a— (i), b—(iv), ¢ — (iii), d - (i)

3. a—(iii), b~ (i), ¢ — (i), d— (iv)

4. a— (iv), b= (i), o (ii), d - (i)

The following figure is a “risk-graph™ that
illusirates the percent risk a species faces
towards extinction.

The followimg are ranks assigned according
to IUCN’s red-list category:

(i)  Critically endangered

(ii) Near threatened

{iif) Vulnerable

{iv) Least concern

Which one of the following is the most
appropriate match between the percent-risk
and their assigned rank?

Lo a—(i), b (iii), ¢ - (iv), d — ii)

2. a (i), b—(iv), e — (iii), d - (ii)

3. a—(iii), b— (ii), ¢ ~ (i), d - (iv)

4. a—(iv), b~ (iii), ¢ — (ii), d - (i)

SHIRISE/MS—3AH—TA
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GET IT ON
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mre Bt # i owfial o
m_ﬁa’l‘mm‘q

uheor AT ot wa e
i W@ A wfal o aunf wey
e = wtyal ¥ somfag we

TE ETe Wi W n{n-1)

- wmiie wfrw e =m-ﬂ ol o
' wrhyal At & e e

i

R AT O sfen
=Y el e
R ECE
wforl @ Heay

b BRI B =

129, The complexity of a food web in a

community is guantified using certain
parameters which are defined below.
Which of the following is an INCORRECT
representation?

Averape number of links

! between trophic levels
1 mﬂ % th = et i
tong Total number of trophic
_ Tevels
#tval nomber of Tmnks in 8
;I'_' 5 i e e L e
2 Comneotanco potential mmber of links i a
Potential ks in & _ _ nin1)
3 fnu web where ‘n’ ‘aetual number of links
apecies are present
actusl number of
3 - links in & food web
4. Linkage domsity = 1018 I00d web
i Mumber of species
in & food web

130,

= Deiviants of ixtyr W gem main land
------ Bia# ol tha hland

.—--n#""“q

Lo,

T i e e R ae e

i
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gt darfag ot et s quldr

2 ot ta v A werdlv | gaar g

(e YeEn) v e (g ) ®

HTEAY UY §9 O¥ B A AR vd

fFrafa =t uRafm s 2| Fres o

# wta a7 T #io o fae wh 2 2

1. TE eI ® qurdle @ oY 9ga
Bler & 1.

2. WE ETHY W gY@ S 9gy 49
21

3. WE ETEIT & Aurdle 2 i dua
a=T B

4. ¥E MR W gx 2 it aga via
Tl

The above graph illustrates two lines that
represent the immigration and extinction
rates for an island based on its distance
from mainland (solid line) and its size
{dotted line). Which of the following is true
for this istand?
1. Tt is glose to the mainland and is very
srmall.
2. Itis far from mainland and is very large,
3. It is close to the mainland and is very
large. ' . :
4. Itis far from the mainland and 1s very
small.

L B O B B GG
Yo WA YA AU S
st witg @ mivg fea o wear §
Hee By B TS U 10 Hard 8
afgmygel afpaers dw—wma 4, s

. yw eyt & far oifye wed 2

ama o ofied oe qergdt get @
@ fag wwd 2 @iy oWl &4 5
wifiolal wd oo @l ER @
ATYHT Webel Iareral w1 8 ?
. 15 o
e 4.~ 378
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Inclusive fitngss of an animal can be

measured as

indireet [itness,

a sum of direct fitness and
Imaginé you have 10

offsprings. Thyough diligent parental care,
S-survivie to reprodice. You give your life
in a heroie deetd 1w save atotal of 5 of your

nieces: and nephews.  What is your
inclusive fitnegs?

e e P

305 4. 375
witgafaar [oegat g fee o

9rd U9 @qER @ el sl B

farert gl
fag g

B W ggEr W 9a @
el wd @ wigaarfEa

@ A N @ty W wud wag & 7

1. UF WU

SEEHAT BT aHd W 8

W T aTEr Qi%ﬁm 2 |
2. g wWols guq @ e d
JYTIS AEmeT AT gl glar #
(I £ B 5 € i S £ B 1

afepT vl 21
3. wg wdilwl @& Frawehfdar @t
HT 2 |

4, U8 IEla € Wid rb - ¢ > 0 O ¢

wefeEad FEe a2, b
giyd Bl wiEmad am 2 ud
r SFETTE wrEEar 2

Altruism des
by animals th

ibes a behaviour performed
t may be disadvantageous Lo

self while benefitting others, Which one of

the following

statements is INCORRECT

about altrui‘s&q?
I. ftisthe net gain of direct fitness when

sociality is
2. 1vis under
fitness ben

fitness cos
Benelit to

relatedness.

facultative, !
asitive selection via indirect
fits that exceed direct fitness

to-adtruist, b is filness
geipient, and 1 is genctic:

SMIRISEME—3AH—TE
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Ry M ap sa% gTefy amfas

gmtm ¥ ot & wain & wenf #
|

A, mtELTTC @ yrfiiwar cpgroan
U9 @I @ SR T8 2 wifs
4 WO 3 &1 iy wfirs
e fean & vd du v @
aaes wihe fGwma fewn 2

B. cpEluaie weg T8 f%ur man,
STl AP, tae e
HATEHA, U9 cpEl Uy aﬁ' a‘:‘

:‘;tag—rhu?maﬁﬁg:rﬁ

C. rdlgay. o¥ fv and Hoa. vag
fear war & 99 gwaay st
fawTa < oo W1 agwn aare
& W |

. r%pf.lﬁ.t\'._ vy cp?fl.ﬁﬂ. ol
anvfas vy § Us I HdER
T fear i wear auife @
;ﬂm—ﬁﬁ’lsﬂ qemsfhar faamw

|

Suiea wia W sy Taw # ?

i, A,CWED 2. ABWEC

3. ®ad ATEC 4, ®ad BTED

Given are some statements with reference
to the use of gemes in plant molecular
systematics.

A, mtDNA are not preferred over cpDNA
or rDNA because they generally show
slow rate of sequence evolution and fast
rate of structural evolution,

B. ¢pDNA are not preferred because of

their haploidy, uniparental inheritance,
and absence of recombination among
cpDNA molecules.

C. rDNA such as ITS are preferred for

their higher evolutionary rates as well as
shorter sequence length.

D. fDNA and cpDNA cannot “be used

simultaneously in molecular systematics
since they represent conflicting patterns
of inheritance.

Which of the above statements are
INCORRECT?

l.-A, Cand D 2. A,BandC

3. A and C only 4. Band Donly
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faes & akt § g%

ﬁgqﬂﬁﬁqg‘&?!w .
A "F!T‘I-?Iﬁ]’rﬁ EGE ATATEY
fere afrmagef 2

B. arqafye  fages  gwfaweh
smgfr & e qddRa anf gy
o WEHd B

c. wEfhes  fgew amardt d
aqafire fafumal &t &n ww
HHd 2|

D. angafe fagas qearug
yorfawedl &1 tefia &Y wear 2

[a HAAl W B W T WHEEY

el 8 ?

2, ®Ed AGG C

. $9d AT B
3. A,Bud C 4 ACW D

Eollowing are key points about the effect

of genetic drift:

A Genetie drift is significant in small
populations.

B. Genetic drift can cause allele
frequencies to change in a pre-directed
way.

C. Genetic drift can lead to a loss of
genetic variation within populations.

D. Genetic drift can cause harmful alleles
to become fixed.

|
Which one of the following combination of

the above statements are true?
. Aand B only 2. A and C only
3. ALBandC 4. A Cand D
s et fasroard ofts e @
BY GrAIEY & qufar 2
e | & i
A [®fwm @ [|§) [enadl qmmade |
e # witw faam
W WS OF WE
3 A agterdt ekt @
B |stewil & | (i) | waPaq ohal &
firgra aif ¥ RgRa
Fraer swvsgran
= et &1
¢ | wem @ | i) | wiea g, @
fergia a Patfva e
' uy fisr 4 amy
AT
D |+ dda [ {iy) | #ad weead
& Frera &t T fEw Fear
£l
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136.

H ® oW wma” (& 0P
wE Ad 2

i), B-(ii), C=(iv), D-(iD

i), B—(iii), C-(iv), D-(ii)

i), B=(iii), C-~(), D-(iv)
iv, B-(iii), C-—(i), D-(ii)

i
nﬂﬁﬁﬂk

. A=
: A=
v =
v A=

el b —

Following table contains some of the
generalizations of evolutionary biology:

Column | Column II
A | Cope's {iy | Population
Rule lineages tend to
increase in body
size aver
evolutionary
time.
B | Dollo’s {ii) | Thereis
Law constant
probability of
extinction in
family of related
organisms.
C | Ockham’s | (iii) | Complex
Principle characters, once
lost, are not
regained.
D | van (iv) | Accept the
Valen's simplest theory
Law | that works.

Which of the following is correct match
behﬁeen'Columr;___l&ndH-?- !
L. A=), B-(ii), C-(iv). D=(iii)
2, A-(i), B-(il)), C~—(iv) D-(ii)
3. A (i), B-(iii), C-=(i), D-{iv)
4. A= (iv), B-(ii),., C-(i). D-(ii)

v WIS o BT 1257 bp Wl
DNA of#hH & TS Wad VOB

.mﬁ%mﬁpmyaw

& WY Fd fear war vd g
S Ol darw w1 dter ey
% fem wr svifas faveser 9
oftral ® @9 geR & uRelT et
mRNAs: 555 bp, 981 bp U@ 1257 bp B
@ gal gdr| o9udtda ufoyEt s
amen a1 @ far e s

gwarfaa fee e

52

136.

B. The gene si

€. Expression

GET IT ON

Google Play

e @ aumfde wwe g
YT |

C. wuiaRa st @ fao
ATy FTAG (1257 @)
Hia® #

D. UG 9w @ fAfyss @
Y } LC I £l 4
Sifr@Erat| @1 firgor 2

duled wuE] BT B W wHeEy

st aRemt (et W @ | affa
T

I, ATE C 2, BwiD
3.ATER 4, CUdD

A 1257 bp:-genomic DNA sequence of a
prokaryotic genp was cloned under a strong
constitutive prometer along with a suitable
polyA signal and used for development of
transgenic  tobBacco  plants. Molecular
analysis revealed the presence of three
types/lengths of transgene derived mRNAs:
355 bp, 981 bp and 1257 bp — in the leaves

‘of  transgenic | plants. The following

statements wer
above results.

prﬂpﬂﬁcd to explain the

A. The three R'H'&s represent alterna-
tively spliced transcripts due 1o the
ymstmne of jputative intronic sequence
in‘the gene, 1

ience was characterized by

the presence of pﬂmmiai

inglion ﬂf' transcription.

£ 'full-length transcripts

(1257 bases) ‘was lethal to the
transformed gells:

D. The transgenic plants were chimeric in
nature: and [comprised of a mix of
transformed gnd untransformed cells.

Which of the following combinations of

the above statements would correctly

cwp{am the obtajned results?
cAand C 2. BandD
."-. Aand B 4, Cand D
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In order to detect minor variations in antigen
concentration, the following procedures were
suggested. Which one will likely be the hest
option?
I Antigen coated microtitre well — add
antibody — add enzyme conjugated
- secondary antibody — add substrate
and measure colour,

2. Antibody coated microtitre well - add

antigen — add enzyme conjugated
secondary antibody — add substrate
and measure colgur.

3. Preincubate antigen with fixed amount
of antibody — add to antigen coated
well — add enzyme conjugated
secondary antibody - add substrate
and measure colour. :

4. Preincubate antigen with fixed amount
of antibody — add to antibody coated
well = add enzyme conjugated
secondary antibody — add substrate
and measure colour,

TR AgEeTT wAtrerar F i wiy
(P, Q. R) & W19 & wearrt @
e oY v ¥ o 5 ve ohrwer
Hed X & srar=afsar wear 2 p 3
ﬁaﬁﬁﬁmﬁwmwﬁa
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X @t A, B, CUW D% Wy
T S R Q * we-yfwan
e oy X ufteeht &1 suahr
B EY A vd A B w c 9@
UEETT Bl | R A ey
forar g B #Y wgem &)
ot it wlt aRmm @y
WEhwT § fors1 fag ma 2

(i]ggma.,a,cwnwﬁm

21

(i) X v¥&s W0 § B ¥ a=uqteafar
HYar 8 |

(i) X & Wrer| A, B vd ¢ figor 2

(iv) W9aE: D gdaar & X @ el T
AT g

aten ®t W Pesed oy gt
Bt e a0 [ affa s @ 7

L (i), (i) 94 (ili)

2. (i), (i) ¥ (iy)

3. (i), (iii) T (iv)
4, (if), (ifi) w4 (jv)

. Three students (P, Q, R) in a research lab

were trying to identify proteins that interact
with a transcription factor X. P performed
gel_filtration periments and identificd
that X was foun along with proteins A, B,
Crand D ©Q performed  co-
immunoprecipitation experiments using
antibodies to X gnd identified A, B and C,
R did ‘& yedst-2-hybrid ‘séreen and

The following are likely conclusions that

may explain all the results: :

(i) A,B,CandD are ina complex with X,

(i) X directly intpracts with B.

(iii)Only A, B and C are in complex with
X,

(iv) D is probably weakly asseciated with
x. y

Which of the hbove conclusions best
explains all the regults?

1. (i), (ii) and i)
3. (i), (iii) and (iv]

2. (i), (i) and (iv)
4. (1), (iii)and (iv)
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Sub-cellular fractionation-based assays
have been used to identify various
organelles in the mammalian cells. In order
to characterize such organelles in a living
mammalian cell, which of the following
microscopy-based method would be the
most accurate?

1. use of fluorescent probes specific for
organelles.

2. use of organclie specific fluorescent
probes followed by microinjection of
fluorescent antibodies against organelle-
specific protein.

3. use of fluorescent probes in permeabilized
cells

4. use of arganclle specific fluorescent probes

followed by cryo-electron microscopy

o ot & |,

A, wae Tdad CAR
T araw &1 Prafeer 107 - 10°M
1 dm 4 A fFuffRa @ @
wwal &1

B, de oo & ST
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fraffla wd fear s wear)
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From the following

1o determine bi

the range of 10
B. de nove sequenging is not possible by

mass spectral o

is ot directly d
diffraction.

resSoNance spec

Surface plasmon

2. AGD
4, C,D

» statermnents,

resonance can be used
hding constants only in
—10° M.

ethods.
hydrogen atoms in proteins
etermined by X-ray

Circular dichrofsm and nuclear magnetic

roscopy do not give the

same informatipn on protein siructure.

Choose the option
statements,

with all correct
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A rescarcher attempted to clone two. Benes
(X and Y) independently in a plasmid
vector for over expression and purification
in E colt. All attempts 10 clone gene X
were unsuccessful whereas gene *Y? could
be cloned easily, When the rescarcher
altempted 1o clone gene *X' in the plasmid
clone comtaining gene *Y”, gene X7 could
be cloned. The following statements were
proposed to explain the above results.

A, Protein encoded by gene * Y is not
lethal o the cell,

Gene "X has introns, whu:h prevents its
expression in B coli

Expression of “X' protein is lethal to the
cell.

The 'Y gene product inhibits the
activity of “X* protein

Which one of the following options represents
a eombination of correct statements to explain
the ebservations?

. enly A and B 2. BCandD

3. only A and D 4 A Cand D

s SIfTE & g S W
®l @t B fag sid A RAfs ven
% ywreefl arenfRa RfEl & g
S WHAT 2 | gud aftafg 2

A fﬁﬂa‘rmmﬁm{mc;qmﬁﬁfaﬁ
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C. ardie @ il

B.
L2

0.

Bl

In order to visualize the intracellular organiz-

ation of a cell. one can atilize wvarious

microscopy-based technigues, These inelude:

A. Differential interference contrast (DIC)
microscopy

B. Phase contrast microscopy

C. Dark field micrascopy

). Epifluorescence microscopy

E. Scanning clectron microscopy

55

143,

143,

GET IT ON
Google Play

F. Transmissign electron microsco PY

G, Confocal microscopy
Whitch of the ahove mentioned
microscopes can be used to study the intra-

cellular dynamiies using live cell imsdging?
. A B EFG 2. AB.CDG
3. AVDLEF G 4. C,D,EEG

v HEEY B vs Rfre oida e
gifen SIRET § e araeRam
ol & gnshifear 3 fav sfad

g1 50 Bl N g w0 @
foe Fosr F @ sty W aeds
walow gt P

1. ot | g1 wwfie oifen

SIRE 7 s NI uravtgw @
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g sl otftar sfer A
T |
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T
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--aﬁﬂm Aeweeft W awoiidr
@ W @1 fefer e g

has been assumed to play

role in the survival of an

intracellular parasite inside the host cells,

Which one of the following techniques will

best prove the as sumption to be correct?

1. Treat the pardsite-infected host cells
with an inhibjtor of the protein and
check the nupher of parasites per host
eell under tha microscope,

. Check the expression of the protein in
parasite-infecied host cells,

31 Check the activity of the protein in

parasite-infected host cells.

4. Treat the pardsite-infected host cells
with an activgtor of the protein and
cheek the number of parasites per host
cell under thelmicroscope.

A certain protei
an- indispensahl

e
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3-A-H

A g = feeai d W wd wgeay
& g B |

L (&) = (i) — (y): b= (ii) = (x) (yh
(e)—()—(y)
(a) — (iii) — (x); b~
(i) —(x). (y)

- ) = (i) — (), () b — (i) — (x),
v () =) —(x)

(@) = (i) - (x); b= (ii) = (x); () -
{iti) — (), (¥)

b3

() —(x) {c) -

sl

=

Given below is a table with information on
isotopes, their half life and type of
particle(s) they emit.

Symbol | Halflife Type of

and atomic | particle(s)

weigh : emitied

@ T [ [57000 (9 [p
Bt

® [T | Gi) | 151 ™ |7
heurs

(c) | *Na | (iii) | 20 min

Choose the correct combination from the
options given belaw,

1, (@) = (i) = (v b= (i) - (x), (¥} (e) -
(i) ~{y)

2. (@) ~ (i) — (x); b= (1) ~ (X} (e) - (i) —
(=) ()

3. (@) — (i) — (x), (y) b = (i) — (x), (v):
()i}~ (x)

4. (a) — (i) — (x): b— (i) —(x); (e}~ (iii)
—{x): (¥)
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methed of DNA scfjuencing in a required
buffer containing NgCl, and Tris-HC1?

L

DNA l:gmplate
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DNA template,

polymerase; te

primer, 4
leptides, 4 labelled
icleotides, DNA

des, DNA

deoxyribonucleotides,
ribonucleatides, DNA
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